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1. narjmWu àíZ-nÌ Ho$ nhbo n¥ð> na AnZm AZwH«$‘m§H$ Adí¶ {bI|&

2. H¥$n¶m àíZ-nÌ H$mo Om±M b| {H$ àíZ-nÌ Ho$ Hw$b n¥ð>m| VWm àíZm| H$s CVZr hr g§»¶m h¡ {OVZr àW‘ n¥ð> Ho$ g~go
D$na N>nr h¡& Bg ~mV H$s Om±M ^r H$a b| {H$ àíZ H«${‘H$ ê$n ‘| h¢&

3. CÎma-nwpñVH$m ‘| nhMmZ-{M• ~ZmZo AWdm {Z{X©ï> ñWmZm| Ho$ A{V[aº$ H$ht ̂ r AZwH«$‘m§H$ {bIZo na narjmWu H$mo
A¶mo½¶ R>ham¶m Om¶oJm&

4. AnZr CÎma-nwpñVH$m na àíZ-nÌ H$m H$moS> Z§0 69/MAY/4, goQ u {bI|&

5. (H$) n«íZ-nÌ Ho$db {hÝXr/A§J«oOr ‘mÜ¶‘ ‘| h¡& {’$a ^r, ¶{X Amn Mmh| Vmo ZrMo Xr JB© {H$gr EH$ ^mfm ‘| CÎma
Xo gH$Vo h¢ …

A§J«oOr, {hÝXr, CXÿ©, n§Om~r, ~§Jbm, V{‘b, ‘b¶mb‘, H$Þ‹S>, VobwJy, ‘amR>r, C{‹S>¶m, JwOamVr, H$m|H$Ur,
‘{Unwar, Ag{‘¶m, Zonmbr, H$í‘rar, g§ñH¥$V Am¡a {gÝYr&

H¥$n¶m CÎma-nwpñVH$m ‘| {XE JE ~m°³g ‘| {bI| {H$ Amn {H$g ^mfm ‘| CÎma {bI aho h¢&

(I) ¶{X Amn {hÝXr Ed§ A§J«oOr Ho$ A{V[aº$ {H$gr AÝ¶ ̂ mfm ‘| CÎma {bIVo h¢, Vmo àíZm| H$mo g‘PZo ‘| hmoZo dmbr
Ìw{Q>¶m|/Jb{V¶m| H$s {Oå‘oXmar Ho$db AmnH$s hmoJr&

6. àíZ-nÌ ‘| {H$gr ^r àH$ma Ho$ g§Xoh AWdm Xþ{dYm H$s pñW{V ‘| A§J«oOr AZwdmX hr ‘mÝ¶ hmoJm&
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BIOLOGY (Theory)

Ord{dkmZ ({gÕmÝV)
(314)

Time : 3 Hours ] [ Maximum Marks : 80

g‘¶ … 3 KÊQ>o ] [ nyUmªH$ … 80

Note  : (i) This Question Paper consists of 43 questions.

(ii) All questions are compulsory.

(iii) Marks are given against each question.

Section–A consists of Question Nos. 1 to 16 Multiple-choice type
questions (MCQs) carrying 1 mark each. Select and write the most
appropriate option out of the four options given in each of these
questions.

Section–B consists of Question Nos. 17 to 28 Objective-type questions
carrying 2 marks (with 2 sub-parts of 1 mark each). Attempt these
questions as per the instructions given for each of the questions.

Section–C (subjective-type) consists of Question Nos. 29 to 37 Very
short answer-type questions carrying 2 marks each to be answered in
the range of 30 to 50 words.

Section–D consists of Question Nos. 38 to 41 Short answer-type
questions carrying 3 marks each to be answered in the range of 50 to
80 words.

Section–E consists of Question Nos. 42 and 43 Long answer-type
questions carrying 5 marks each to be answered in the range of 80 to
120 words.

Internal choices have been provided in some of these questions. You
have to attempt only one of the given choices in such questions.

{ZX}e … (i) Bg àíZ-nÌ ‘| Hw$b 43 àíZ h¢&

(ii) g^r àíZ A{Zdm¶© h¢&

(iii) àË¶oH$ àíZ Ho$ A§H$ CgHo$ gm‘Zo Xem©E JE h¢&

IÊS>-H$ ‘| àíZ g§»¶m 1 go 16 VH$ ~hþ-{dH$ënr àH$ma (MCQ) Ho$ àíZ h¢& àË¶oH$ àíZ
1 A§H$ H$m h¡& {XE JE Mma {dH$ënm| ‘| go gd© g‘w{MV {dH$ën H$mo CÎma Ho$ ê$n ‘| {b{IE&

IÊS>-I ‘| àíZ g§»¶m 17 go 28 dñVw{Zð> àH$ma Ho$ àíZ h¢& àË¶oH$ àíZ 2 A§H$m| H$m h¡ (àË¶oH$
àíZ ‘| 1 A§H$ Ho$ 2 CnàíZ h¢)& {XE JE {ZX}emZwgma àíZm| Ho$ CÎma {b{IE&

IÊS>-J (ì¶{º$naH$-àH$ma) ‘| àíZ g§»¶m 29 go 37 VH$ Ho$ àíZ A{V bKw-CÎmar¶ àíZ h¢&
àË¶oH$ àíZ 2 A§H$m| H$m h¡ {OgH$m CÎma bJ^J 30 go 50 eãXm| H$m hmo gH$Vm h¡&
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SECTION–A

IÊS>–H$

Note : Question Nos. 1 to 16 consist of multiple-choice type questions (MCQs)
carrying 1 mark each.

{ZX}e : àíZ g§»¶m 1 go 16 VH$ ~hþ-{dH$ënr àH$ma (MCQ) Ho$ àíZ h¢& àË¶oH$ àíZ 1 A§H$ H$m h¡&

1. Which one of the following is not a characteristic feature of flatworms
(Platyhelminthes)? 1

(A) No digestive system (B) Having scolex

(C) Mostly parasitic (D) Coelomate

{ZåZ{b{IV ‘| go H$m¡Z-gm MnQ>o H¥${‘ (ßboQ>rhopë‘¨WrO) H$m A{^bjU Zht h¡?

(A) AmhmaZmb H$m A^md (B) MyfH$ hmoVo h¢

(C) A{YH$Va naOrdr (D) dmñV{dH$ Xoh Jwhm (grbmo‘¶wº$)

2. Cambium is a/an

(A) apical meristem (B) intercalary meristem

(C) lateral meristem (D) complex tissue 1

IÊS>-K ‘| àíZ g§»¶m 38 go 41 VH$ bKw-CÎmar¶ àíZ h¢& àË¶oH$ àíZ 3 A§H$m| H$m h¡ {OgH$m
CÎma bJ^J 50 go 80 eãXm| H$m hmo gH$Vm h¡&

IÊS>-L> ‘| àíZ g§»¶m 42 VWm 43 XrK©-CÎmar¶ àíZ h¢& àË¶oH$ àíZ 5 A§H$m| H$m h¡& CÎma bJ^J
80 go 120 eãXm| H$m hmo gH$Vm h¡&

Hw$N> àíZm| ‘| Am§V[aH$ {dH$ën {XE JE h¢& AmnH$mo CZ‘| go Ho$db EH$ àíZ H$m CÎma {bIZm h¡&

(1) Answers of all questions are to be given in the Answer-Book given to you.

g^r àíZm| Ho$ CÎma AmnH$mo Xr JB© CÎma-nwpñVH$m ‘| hr {bI|&
(2) 15 minutes time has been allotted to read this question paper. The question

paper will be distributed at 2:15 p.m. From 2:15 p.m. to 2:30 p.m., the
students will read the question paper only and will not write any answer on
the Answer-Book during this period.

Bg àíZ-nÌ H$mo n‹T>Zo Ho$ {bE 15 {‘ZQ> H$m g‘¶ {X¶m J¶m h¡& àíZ-nÌ H$m {dVaU Xmonha ‘|
2:15 ~Oo {H$¶m OmEJm& Xmonha 2:15 ~Oo go 2:30 ~Oo VH$ N>mÌ Ho$db àíZ-nÌ H$mo n‹T>|Jo Am¡a
Bg Ad{Y Ho$ Xm¡amZ do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo&
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H¡$på~¶‘ h¡ EH$

(A) erf©ñW {d^Á¶moVH$ (B) A§Vd}er {d^Á¶moVH$

(C) nmíd© {d^Á¶moVH$ (D) gpå‘l D$VH$

3. Oversecretion of thyroxine produces

(A) exophthalmic goiter (B) simple goiter

(C) cretinism (D) myxoedema 1

Wm¶am°p³gZ Ho$ A{VòdU go hmoZo dmbm {dH$ma h¡

(A) E³gmoâW¡pë‘H$ JbJ§S> (B) gab JbJ§S>

(C) AdQw>dm‘ZVm (D) {‘³gmo{S>‘m

4. Self-pollination is observed in pea plants as their

(A) stamens and pistils develop at the same time (synchronous) in closed
flowers

(B) stamens and pistils develop at different times

(C) stamens and pistils are found in different plants

(D) male and female sex organs are found in different flowers 1

‘Q>a Ho$ nm¡Ymo§ ‘| ñdnamJU hmoVm h¡, ³¶mo§{H$ CZHo$

(A) nw§Ho$ga VWm Om¶m§J (A§S>n) EH$ hr g‘¶ na n[an¹$ hmoVo h¢ VWm nwîn nyar Vah Zht IwbVo

(B) nw§Ho$ga VWm Om¶m§J (A§S>n) {d{^Þ g‘¶m| na n[an¹$ hmoVo h¢

(C) nw§Ho$ga VWm Om¶m§J AbJ-AbJ nm¡Ym| na nmE OmVo h¢

(D) Za VWm ‘mXm OZZ A§J {dbJ-{dbJ ’y$bmo§ ‘| nmE OmVo h¢

5. In a healthy human female, ovum is matured and released at what time of
menstrual cycle? 1

(A) 1st day of menstrual cycle

(B) Between 13th–14th day of menstrual cycle

(C) 18th day after start of menstrual cycle

(D) 28th day after start of menstrual cycle
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EH$ ñdñW ór (‘mZd ‘mXm) ‘| A§S>moËgJ© aO…òmd àma§^ hmoZo Ho$ ~mX H$~ hmoVm h¡?

(A) aO…òmd (G Vwòmd) Ho$ àW‘ {XZ (B) 13–14 {XZ Ho$ ~rM

(C) 18do§ {XZ (D) 28do§ {XZ

6. The end products of glycolysis in muscles are

(A) pyruvic acid, 36 ATP (B) pyruvic acid, 4 ATP

(C) ethyl alcohol, 2 ATP (D) pyruvic acid, 2 ATP 1

‘m§gno{e¶mo§ ‘| ½bmBH$mo{b{gg Ho$ A§Ë¶moËnmX h¢

(A) nmBé{dH$ Aåb, 36 ATP (B) nmBé{dH$ Aåb, 4 ATP

(C) E{Wb EoëH$mohm°b, 2 ATP (D) nmBé{dH$ Aåb, 2 ATP

7. The correct sequence of development of embryo in human female is

(A) union of sperm and ovum   zygote   morula   blastocyst

(B) morula   zygote   union of sperm and ovum   blastocyst

(C) zygote   morula   blastocyst   union of sperm and ovum

(D) blastocyst   morula   zygote   union of sperm and ovum 1

‘mZd ‘mXm (ór) ‘| ^«yU Ho$ n[adY©Z ({dH$mg) H$m ghr AZwH«$‘ h¡

(A) ewH«$mUw VWm A§S> H$m g§b¶Z   ¶w½‘ZO   VyVH$ (‘moébm)   H$moaH$nwQ>r

(B) VyVH$   ¶w½‘ZO   ewH«$mUw VWm A§S> H$m g§b¶Z   H$moaH$nwQ>r

(C) ¶w½‘ZO   VyVH$   H$moaH$nwQ>r   ewH«$mUw VWm A§S> H$m g§b¶Z

(D) H$moaH$nwQ>r   VyVH$   ¶w½‘ZO   ewH«$mUw VWm A§S> H$m g§b¶Z

8. The types of inflorescence with one example each are given below. Identify
the wrong pair. 1

(A) Hypanthodium — fig (B) Umbel — coriander

(C) Cymose — wheat (D) Racemose — mustard
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nwînH«$‘ Ho$ àH$ma H$m CgHo$ EH$ CXmhaU Ho$ gmW {‘bmZ H$aHo$ {ZåZ ê$n go Xem©¶m J¶m h¡& JbV
¶w½‘ dmbo {dH$ën H$m M¶Z H$s{OE&

(A) hmBn¡ÝWmo{S>¶‘ — A§Ora (B) N>ÌH$ (Aå~ob) — Y{Z¶m

(C) ggr‘mjr — Johÿ± (D) Agr‘mjr — gagm|

9. Oxytocin is the hormone secreted by pituitary for

(A) uterine contraction for childbirth (B) formation of corpus luteum

(C) ovulation (D) menstrual cycle 1

{nQ>çyQ>ar (nr¶yf) J«§{W Ûmam òm{dV hm°‘m}Z Am°³grQ>mo{gZ H$m H$m¶© h¡

(A) àgd hoVw J^m©e¶ ‘| g§Hw$MZ (B) nrV qnS> (H$m°n©g ë¶w{Q>¶‘) H$m ~ZZm

(C) A§S>moËgJ© (D) G Vwòmd

10. In a dihybrid Mendelian cross, phenotypic ratio in F2 generation was

9 : 3 : 3 : 1. In this, the 
1

16
 portion represents

(A) recessive phenotypic condition for both the characters

(B) one dominant and one recessive character

(C) both dominant characters

(D) new recombinants due to crossing over 1

{Ûg§H$a ‘|S>br¶ H«$m°g ‘| F2 nr‹T>r ‘| àmá bjUàê$n (’$sZmoQ>mB{nH$) AZwnmV 9 : 3 : 3 : 1 ‘|
1

16
 dm± ^mJ {Zê${nV H$aVm h¡

(A) XmoZm| bjUm| Ho$ {bE Aà^mdr bjUàê$n

(B) EH$ à^mdr bjU VWm EH$ Aà^mdr bjU

(C) XmoZm| à^mdr bjU

(D) OrZ {d{Z‘¶ (H«$m°qgJ Amoda) Ûmam àmá ZdrZ g§¶moOZ
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11. Cyanocobalamin is

(A) vitamin A (B) vitamin D

(C) vitamin B12 (D) vitamin C 1

gm¶ZmoH$mo~mbo{‘Z h¡

(A) {dQ>m{‘Z A (B) {dQ>m{‘Z D

(C) {dQ>m{‘Z B12 (D) {dQ>m{‘Z C

12. Fraternal twins are produced when

(A) two ova are fertilized by two sperms

(B) fertilized ovum divides into two independent cells each develops into
two separate individuals

(C) ova are developed into two embryos without fertilization

(D) twins produced from one egg fail to separate 1

A{^Þ Ow‹S>dm± V~ CËnÞ hmoVo h¢ O~

(A) Xmo A§S> Xmo AbJ-AbJ ewH«$mUwAm| Ûmam {Zfo{MV hmoVo h¢

(B) {Zfo{MV A§S> Xmo ‘| {d^m{OV hmo OmVm h¡ VWm XmoZm| H$mo{eH$mE± ñdV§Ì ê$n go n[ad{Y©V hmo AbJ-
AbJ ì¶{ï>¶m| H$mo OÝ‘ XoVr h¢

(C) A{Zfo{MV A§S> Xmo ^«yU ~ZmVo h¢

(D) EH$ A§S> Ûmam CËnÞ Ow‹S>dm± ~ƒo EH$-Xÿgao go AbJ Zht hmo nmVo

13. Elderly people often get their bones fractured during a slightest fall. The
possible condition diagnosed in them is

(A) obesity (B) osteomalacia/osteoporosis

(C) anaemia (D) rickets 1

d¥Õ ì¶{º$¶mo§ H$s h{È>¶m± hëH$m-gm ^r AmKmV bJZo go Qy>Q> OmVr h¢& BgH$m gd©g§^m{dV (g§^mì¶) H$maU h¡

(A) ‘moQ>mnm (B) Am°pñQ>¶mo‘¡b¡{g¶m (ApñW‘¥XþVm)

(C) Aaº$Vm (D) [aHo$Q²>g
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14. Bacteria are preferred in experiments of recombinant DNA technology
because

(A) bacteria have a huge single chromosome

(B) they have extranuclear chromosomes—the plasmid

(C) their chromosomes have exons and introns

(D) they have pili on their body surface 1

nwZ¶m}JO DNA àm¡Úmo{JH$s Ho$ à¶moJm| ‘| ~¡³Q>r[a¶m H$mo dar¶Vm Xr OmVr h¡, ³¶m|{H$

(A) ~¡³Q>r[a¶m ‘| EH$ {demb EH$b JwUgyÌ hmoVm h¡

(B) A{V[aº$ JwUgyÌr¶ AUw—"ßbmpÁ‘S>' hmoVo h¢

(C) BgHo$ JwUgyÌm| ‘| E³gm°Z VWm BÝQ´>m°Z hmoVo h¢

(D) BgHo$ eara H$s gVh na nmBbmB© hmoVo h¢

15. The enzyme that joins DNA fragments is

(A) ligase (B) restriction enzyme

(C) polymerase (D) primase 1

E§OmB‘ Omo S>r0EZ0E0 Ho$ EH$ I§S> H$mo S>r0EZ0E0 Ho$ Xÿgao I§S> Ho$ gmW Omo‹S>Vm h¡, h¡

(A) bmBJog (B) à{V~§YZ E§OmB‘

(C) nm°br‘aoO (D) àmB‘oO

16. Which one of the following examples is not transgenic variety? 1

(A) Cotton (B) Corn

(C) Goat (D) Man

{ZåZ{b{IV ‘| go H$m¡Z-go Ord H$m nmaOrZr Ord {dH${gV Zht hþAm h¡?

(A) H$nmg (B) ‘¸$m

(C) ~H$ar (D) ‘mZd
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SECTION–B

IÊS>–I

Note : Question Nos. 17 to 28 are objective-type questions carrying 2 marks
each.

{ZX}e : àíZ g§»¶m 17 go 28 VH$ dñVw{Zð> àH$ma Ho$ àíZ h¢& àË¶oH$ àíZ 2 A§H$m| H$m h¡&

17. Identify the wrong statements (any two) : 1+1=2

(a) Gametes are unicellular haploid.

(b) Spores have haploid nucleus.

(c) Zygotes have diploid nucleus.

(d) Zoospores are non-motile.

JbV H$WZmo§ H$mo nhMm{ZE (H$moB© Xmo) :

(H$) ¶w½‘H$ AJw{UV VWm EH$H$mo{eH$s¶ hmoVo h¢&

(I) ~rOmUw ‘| AJw{UV Ho$ÝÐH$ hmoVm h¡&

(J) ¶w½‘ZO ‘| {ÛJw{UV Ho$ÝÐH$ hmoVm h¡&

(K) Oyñnmoa AMa hmoVo h¢&

18. Fill in the blanks [attempt any two parts from the following] : 1+1=2

(a) Mitochondrion is called as the _____ of the cell.

(b) Conjoint, collateral and open vascular bundles are found in _____
stem.

(c) Yeast reproduces by _____ method.

(d) Ciliated columnar epithelium is found as lining of _____.

{ZåZ{b{IV ‘| go {H$Ýht Xmo ^mJm| ‘o§ [aº$ ñWmZm| H$s ny{V© H$s{OE :

(H$) ‘mBQ>moH$m°pÝS´>¶m H$mo H$mo{eH$m H$m _____ H$hm OmVm h¡&

(I) g§¶wº$, g§nmpíd©H$ VWm Iwbo g§dhZ nyb (~§S>b) _____ VZo ‘| nmE OmVo h¢&



314/MAY/206A 11 [ P.T.O.

(J) ¶rñQ> _____ {d{Y Ûmam OZZ H$aVm h¡&

(K) nú‘m^r ñV§^mH$ma CnH$bm _____ H$m AñVa ~ZmVr h¡&

19. Match the items given in Column–I with the correct items given in
Column–II : 1+1=2

Column–I Column–II

(a) FSH (i) Male hormone

(b) Testosterone (ii) Placenta

(iii) Graafian follicle

(iv) Controls blood sugar

H$m°b‘–I ‘| {XE JE ‘Xm| H$m H$m°b‘–II ‘| {XE JE g‘w{MV ‘Xm| Ho$ gmW {‘bmZ H$s{OE :

H$m°b‘–I H$m°b‘–II

(a) FSH (i) ZaqbJ hm‘m}Z

(b) Q>oñQ>moñQ>oamoZ (ii) Anam

(iii) J«m’$s¶ nwQ>H$

(iv) é{Ya eH©$am H$m {Z¶‘Z

20. The flow of blood is shown in diagram through heart, labelled as A, B, C
 and D. Identify any two of them. 1+1=2
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{ZåZ {MÌ ‘| öX¶ Ûmam é{Ya n[ag§MaU nW H$mo Xem©¶m J¶m h¡& {XE JE A, B, C VWm D ‘| go
{H$Ýht Xmo ñWmZmo§ H$s g‘w{MV ny{V© H$s{OE :

21. Match the items given in Column–I with the correct items given in
Column–II : 1+1=2

Column–I Column–II

(a) Bulliform cells (i) Xylem

(b) Guttation (ii) Hydathodes

(iii) Monocot leaf

(iv) Palisade parenchyma

H$m°b‘–I ‘| Xr JB© ‘Xm| Ho$ {bE H$m°b‘–II ‘| Xr JB© ‘Xm| ‘| go g‘w{MV ‘X MwZH$a gw‘o{bV H$s{OE :

H$m°b‘–I H$m°b‘–II

(a) ~wbr’$m°‘© H$mo{eH$mE± (i) OmBb‘

(b) q~Xþòmd (ii) Oba§Y«

(iii) EH$~rOnÌr nÎmr

(iv) nobrgoS> noaoÝH$mB‘m
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22. Given below is the structure of DNA. Redraw the diagram and fill in the
blanks (any two) : 1+1=2

ZrMo {XE JE {MÌ ‘| DNA H$s g§aMZm H$m {Zê$nU {H$¶m J¶m h¡& {MÌ H$mo Xmo~mam ~ZmBE VWm ~m°³g
‘| {XE JE {H$Ýht Xmo [aº$ ñWmZm| H$s ny{V© H$s{OE :

23. Explain briefly any two of the following : 1×2=2

(a) Translation

(b) Transcription

(c) Primers

(d) t-RNA
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{ZåZ{b{IV ‘| go {H$Ýht Xmo H$s g§{já ì¶m»¶m H$s{OE :

(H$) Q´>m§gboeZ

(I) AZwboIZ (Q´>m§g{H«$ßeZ)

(J) àmB‘a

(K) t-RNA

24. Given below is the section of ovary. Identify the spots A and B. 1+1=2

‘mZd AÊS>me¶ H$s g§aMZm ‘| Xem©B© JB© A VWm B g§aMZmAm| H$mo nhMmZH$a CZHo$ Zm‘
{b{IE :
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25. Study the following passage and fill in the blanks with appropriate words

[attempt any two parts from A–D] : 1+1=2

      A  is an association between maternal and foetal tissue.       B  is a

tough structure which serves as the blood vascular connection between

foetus and uterine wall. The embryo is enclosed in a sac called       C , which

is filled with       D . It acts as shock absorber to protect embryo

from damage.

{ZåZ{b{IV n[aÀN>oX H$m AÜ¶¶Z H$aHo$ [aº$ ñWmZ A, B, C VWm D ‘| go {H$Ýht Xmo ñWmZm| H$s ny{V©

g‘w{MV nXm| (eãXm|) Ûmam H$s{OE :

      A  ‘mVm VWm ^«yU Ho$ D$VH$m| Ho$ ~rM EH$ gå~ÝY h¡& n[adY©ZH$mar ^«yU VWm J^m©e¶ H$s {^{Îm

Ho$ ~rM EH$ ‘O~yV g§aMZm       B  hmoVr h¡ Omo n[adY©Zerb ^«yU VWm J^m©e¶ Ho$ ~rM é{Ya g§dhZ-

gå~ÝY ñWm{nV H$aVr h¡& ^«yU EH$ W¡br ‘| ~§X hmo OmVm h¡ {Ogo       C  H$hVo h¢& Bg‘|       D

^am hmoVm h¡ Omo ^«yU H$mo Y¸$m| go ~MmVm h¡ VWm ^«yU H$mo j{VJ«ñV hmoZo go ~MmZo ‘| ghm¶H$

hmoVm h¡&

26. Some people tend to take vitamins in excessive amounts. Excessive intake

of water-soluble vitamin may not cause harm. But the excess amount of

fat-soluble ones are poisonous to body.

(a) What is hypervitaminosis?

(b) Name two fat-soluble vitamins. 1+1=2

Hw$N> ì¶{º$¶m| ‘| {dQ>m{‘Zm| Ho$ AË¶{YH$ ‘mÌm Ho$ godZ H$aZo H$s àd¥{Îm hmoVr h¡& Ob ‘| {dbo¶ {dQ>m{‘Zm|

H$s A{YH$ ‘mÌm go g§^dV… hm{Z Z ^r hmo, naÝVw, dgm ‘| {dbo¶ {dQ>m{‘Zm| H$s A{YH$Vm eara Ho$

{bE hm{ZH$maH$ hmoVr h¡&

(H$) A{V{dQ>m{‘ZVm ³¶m h¡?

(I) dgm ‘| {dbo¶ (KwbZerb) Xmo {dQ>m{‘Zm| Ho$ Zm‘ {b{IE&
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27. Red-green colour blindness is a sex-linked disorder. Observe the flow chart
of the disease given below :

(a) Which parent is contributing the gene for colour blindness to the
offspring?

(b) What are the chances of the daughters showing the disease to these
parents? 1+1=2

bmb-har dUmªYVm EH$ qbJ ghb¾ {dH$ma h¡& BgHo$ àdmh AmaoI H$m AÜ¶¶Z H$s{OE :

(H$) Cnamoº$ ‘| H$m¡Z-go OZH$ go dUmªYVm H$m OrZ g§V{V ‘| d§emJV hmo ahm h¡?

(I) BZ OZH$m| H$s nw{Ì¶m| Ho$ Bg {dH$ma go J«ñV hmoZo H$s ³¶m g§^mì¶Vm h¡?

28. Given below is the sequence to succession of communities in a habitat. Fill
in the gaps A and B with appropriate answer : 1+1=2

{H$gr Amdmg ‘| {d{^Þ g‘wXm¶m| Ho$ AZwH«$‘U Ho$ gwì¶dpñWV AZwH«$‘ H$mo {ZåZ ê$n go Xem©¶m J¶m
h¡¡& Bg‘| {XE JE [aº$ ñWmZ A VWm B H$s ny{V© g‘w{MV CÎma Ûmam H$s{OE :
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SECTION–C

IÊS>–J

Note : Question Nos. 29 to 37 are very short answer-type questions carrying
2 marks each.

{ZX}e : àíZ g§»¶m 29 go 37 VH$ A{V bKw-CÎmar¶ àíZ h¢& àË¶oH$ àíZ 2 A§H$m| H$m h¡&

29. Write the names of two organisms belong to each one of the following groups : 2

(a) Arthropoda

(b) Aves

{ZåZ{b{IV dJm] ‘| go àË¶oH$ dJ© Ho$ Xmo Ordm| (OÝVwAm|) Ho$ Zm‘ {b{IE :

(H$) g§{YnmX (AmW«m}nmoS>m)

(I) njr (EdrO)

30. Which tissue bears the following characters? 2

(a) Small and compactly packed cells which divide continuously.

(b) End walls open and cells join to form a long tube having dead cell
wall.

H$m¡Z-go D$VH$ {ZåZ{b{IV A{^bjU Xem©Vo h¢?

(H$) N>moQ>r-N>moQ>r g§h{V¶m| Ho$ KZr^yV {d^mOZerb EH$ gÑí¶ Or{dV H$mo{eH$mAm| H$m g‘yh&

(I) ‘moQ>r H$mo{eH$m {^{Îm¶wº$ ‘¥V H$mo{eH$mE± {OZH$s A§Ë¶{^{Îm¶m± Iwbr hmoVr h¢ Am¡a nañna Ow‹S>H$a
b§~r Z{bH$mE± ~ZmVr h¢&

31. Why are bacteria called monerans. Support your answer giving any two
characters. 2

~¡³Q>r[a¶m H$mo ‘moZoam OJV² Ho$ AÝVJ©V ³¶m| aIm J¶m h¡? AnZo CÎma Ho$ g‘W©Z ‘| BgHo$ {H$Ýht Xmo
A{^bjUm| H$m C„oI H$s{OE&
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Or / AWdm

Maize is a monocot plant. Give any two valid reasons for considering of so.

‘¸$m EH$ EH$~rOnÌr nm¡Ym h¡& BgH$mo Bg dJ© ‘| aIZo Ho$ g‘W©Z ‘| Xmo gmW©H$ H$maU {b{IE&

32. With the help of lined diagram only, show the structural components of
a habitat. 2

EH$ aoIr¶ AmaoI H$s ghm¶Vm go EH$ Amdmg Ho$ g§aMZmË‘H$ KQ>H$m| H$mo Xem©BE&

33. How do immigration and emigration affect the existing population
density? 2

AmàdmgZ VWm CËàdmgZ {H$gr dV©‘mZ g‘{ï> KZËd H$mo {H$g àH$ma à^m{dV H$aVo h¢?

Or / AWdm

A rapidly growing population has more number of individuals of
reproductive age. What is the growth pattern of the population, if more
pre-reproductive individuals are present in the population?

Vrd«Vm go d¥{Õ H$aVr g‘{ï> (OZg§»¶m) ‘| OZZj‘ ì¶{ï>¶m| H$s g§»¶m ~hþV A{YH$ hmoVr h¡& ¶{X
g‘{ï> ‘| OZZnyd© dJ© Ho$ gXñ¶m| H$s g§»¶m A{YH$ hmo, Vmo g‘{ï> d¥{Õ H$m n¡Q>Z© ³¶m hmoJm?

34. Tetracycline is a broad spectrum antibiotic. Why do we say so? What is the
source of it? 2

Q>oQ´>mgmB³brZ EH$ ì¶mnH$ namg à{VO¡{dH$ (~«m°S> ñn¡³Q´>‘ E|Q>r~m¶mo{Q>H$) h¡&  Q>oQ´>mgmB³brZ H$mo EH$
ì¶mnH$ namg à{VO¡{dH$ (~«m°S> ñn¡³Q´>‘ E|Q>r~m¶mo{Q>H$) ³¶m| H$hVo h¢? BgHo$ òmoV Ord H$m Zm‘ {b{IE&

35. Name two types of enzymes produced in large scale through genetic
engineering. Mention one use of each of enzymes. 2

AmZwd§{eH$ A{^¶m§{ÌH$s Ûmam ì¶mnH$ ñVa na CËnm{XV Xmo àH$ma Ho$ E§OmB‘m| Ho$ Zm‘ {b{IE& àË¶oH$
E§OmB‘ H$m EH$ Cn¶moJ ^r {b{IE&
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Or / AWdm

Write the names of two hormones produced in large scale through
recombinant DNA technology. Name one therapeutic application for each.

nwZ¶m}JO S>r0EZ0E0 àm¡Úmo{JH$s Ûmam ì¶mnH$ ñVa na CËnm{XV Xmo hm°‘m}Zm| Ho$ Zm‘ {b{IE& {M{H$Ëgr¶
CnMma ‘| àË¶oH$ hm°‘m}Z H$m Cn¶moJ {b{IE&

36. Write any four important functions of proteins in our body. 2

h‘mao eara ‘| àmoQ>rZ Ho$ H$moB© Mma ‘hÎdnyU© àH$m¶© {b{IE&

37. Brain is covered by three membranes called _____. The space between
them is filled with _____ fluid. 2

h‘mam ‘pñVîH$ VrZ {P{„¶m| go Amd¥V hmoVm h¡ {OÝho§ _____ H$hVo h¢& BZHo$ ~rM H$s OJh ‘| EH$
Vab ^am hmoVm h¡ {Ogo _____ H$hVo h¢&

SECTION–D

IÊS>–K

Note : Question Nos. 38 to 41 are short answer-type questions carrying
3 marks each.

{ZX}e : àíZ g§»¶m 38 go 41 bKw-CÎmar¶ àíZ h¢ VWm àË¶oH$ àíZ 3 A§H$m| H$m h¡&

38. Draw a neat diagram of a typical bisexual dicotyledonous flower and label
its four whorls (parts) : 3

EH$ {Û~rOnÌr {ÛqbJr àmê$nr nwîn H$m gm’$ {MÌ ~ZmH$a BgHo$ Mma MH«$m| (à‘wI ^mJm|) H$mo Zm‘m§{H$V
H$s{OE&

39. Write the name of one surgical method of contraception carried on in
human males. Explain how it is performed. 3

nwéfm| (‘mZd Za) ‘| J^©{ZamoY H$s {H$gr EH$ eë¶{M{H$Ëgr¶ {d{Y H$m Zm‘ {bIH$a BgH$s {d{Y H$s
ì¶m»¶m H$s{OE&
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Or / AWdm

Write the name of one contraception carried on in human females. Describe
the procedure adopted for it.

{ó¶m| (‘mZd ‘mXm) ‘| J^©{ZamoY H$s {H$gr EH$ eë¶{M{H$Ëgr¶ {d{Y H$m Zm‘ {b{IE VWm ì¶m»¶m
H$s{OE {H$ ¶h {H$g àH$ma gånÞ H$s OmVr h¡&

40. Define the following terms : 3

(a) Amnion

(b) Demography

(c) Population growth rate

{ZåZ{b{IV nXm| H$s n[a^mfm {b{IE :

(H$) Cë~

(I) OZgm§p»¶H$s

(J) OZg§»¶m (g‘{ï>) d¥{Õ Xa

Or / AWdm

Write three effects of uncontrolled population growth on a nation.

A{Z¶§{ÌV Cƒ OZg§»¶m d¥{Õ {H$gr Xoe H$mo {H$g àH$ma à^m{dV H$aVr h¡, BgHo$ VrZ à^md
{b{IE&

41. (a) Briefly explain the transformation in bacteria.

(b) Why do we consider DNA replication as semiconservative? Explain

briefly. 3

(H$) OrdmUwH$ ê$nm§VaU H$s g§{já ì¶m»¶m H$s{OE&

(I) S>r0EZ0E0 (DNA) à{VH¥${V¶Z H$mo AY©g§ajr ³¶m| ‘mZm OmVm h¡? g§{já ì¶m»¶m H$s{OE&
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Or / AWdm

Draw a replicating DNA molecule showing—

(a) parental strand;

(b) Okazaki fragments;

(c) leading strand;

(d) replication fork.

à{VH¥${V¶Z H$aVo DNA AUw H$m AmaoI ~ZmBE VWm Bg‘| {ZåZ{b{IV H$mo Xem©BE VWm Zm‘m§{H$V
H$s{OE :

(H$) OZH$ a‚mwH$

(I) AmoH$mµOmH$s I§S>

(J) brqS>J a‚mwH$

(K) à{VH¥${V {ÛemI

SECTION–E

IÊS>–L>

Note : Question Nos. 42 and 43 are long answer-type questions carrying
5 marks each.

{ZX}e : àíZ g§»¶m 42 VWm 43 XrK©-CÎmar¶ àíZ h¢ VWm àË¶oH$ àíZ 5 A§H$m| H$m h¡&

42. Following is the information given with regard to the respiratory processes
in living beings. Fill in the gaps with appropriate answers : 1×5=5

  2

2 2

T  

Cytoplasm and
        Aerobic — —

  mitochondria

      Anaerobic — —  CO  + 2 ATP

     Krebs cycle —  Mitochondria CO  + NADH

ype of  respiration Raw material Site     Products
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gOrdmo| ‘| ídgZ àH«$‘ Ho$ g§~§Y ‘| Hw$N> gyMZm {ZåZ{b{IV ê$n go Xr JB© h¡& g‘w{MV CÎma Ûmam [aº$
ñWmZm| H$s ny{V© H$s{OE :

2

2 2

    — —

   — —  CO  + 2 ATP

   —  CO  + NADH

ídgZ H$m  àH$ma H$ƒm nXmW© {dñWb CËnmX      

H$mo{eH$mÐd VWmdm¶dr¶
  ‘mBQmoH$m°pÝS¶́m

Adm¶dr¶

H$o« ãg MH$« ‘mBQmoH$m°pÝS¶́m

Or / AWdm

Complete the following statements : 1×5=5

(a) Muscular pain we get after prolonged exercise is due to _____.

(b) Lenticels are found in _____. Their function is _____.

(c) Each NADH2 molecule produces _____ ATP molecules.

(d) Photosynthesis is a _____ path and respiration is a catabolic path.

{ZåZ{b{IV H$WZm| ‘| [aº$ ñWmZm| H$s ny{V© H$aHo$ nyam H$s{OE :

(H$) AË¶{YH$ ì¶m¶m‘ Ho$ níMmV² hmoZo dmbr nr‹S>m H$m H$maU h¡ _____&

(I) _____ ‘| dmVa§Y« nmE OmVo h¢ VWm BZH$m H$m¶© h¡ _____&

(J) àË¶oH$ NADH2 AUw go ATP Ho$ _____ AUw {Z{‘©V hmoVo h¢&

(K) àH$me-g§íbofU EH$ _____ nW h¡ VWm ídgZ EH$ AnM¶r nW h¡&

43. Draw a transverse section of a dicot root and label the following parts : 5

Epiblema, cortex, endodermis, pericycle, protoxylem, metaxylem,
phloem and pith
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EH$ {Û~rOnÌr O‹S> H$s AZwàñW H$mQ> H$m {MÌ ~ZmBE VWm {ZåZ{b{IV ^mJm| H$mo Zm‘m§{H$V H$s{OE :

Enrãbo‘m, dëHw$Q> (H$m°Q>}³g), A§VñËdMm, n[aaå^, àmoQ>moOmBb‘ (àmH²$Xmé), ‘oQ>mOmBb‘, âbmo¶‘
VWm {nW

Or / AWdm

(a) With the help of a diagram, describe the structure of stomatal
apparatus of a dicot leaf.

(b) Where are they located in xerophytes?

(c) What are bulliform cells? Where are they found? Write one important
function of these cells. 5

(H$) EH$ {MÌ H$s ghm¶Vm go EH$ {Û~rOnÌr nÎmr Ho$ a§Y« CnH$aU H$s g§aMZm H$m dU©Z H$s{OE&

(I) ‘éX²{^X² nm¡Ym| ‘| do H$hm± AdpñWV hmoVo h¢?

(J) ~wbr’$m°‘© H$mo{eH$mE± ³¶m h¢? CZH$s AdpñW{V VWm EH$ ‘hÎdnyU© H$m¶© H$m C„oI H$s{OE&


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gm‘mÝ¶ AZwXoe …

1. narjmWu àíZ-nÌ Ho$ nhbo n¥ð> na AnZm AZwH«$‘m§H$ Adí¶ {bI|&

2. H¥$n¶m àíZ-nÌ H$mo Om±M b| {H$ àíZ-nÌ Ho$ Hw$b n¥ð>m| VWm àíZm| H$s CVZr hr g§»¶m h¡ {OVZr àW‘ n¥ð> Ho$ g~go
D$na N>nr h¡& Bg ~mV H$s Om±M ^r H$a b| {H$ àíZ H«${‘H$ ê$n ‘| h¢&

3. CÎma-nwpñVH$m ‘| nhMmZ-{M• ~ZmZo AWdm {Z{X©ï> ñWmZm| Ho$ A{V[aº$ H$ht ̂ r AZwH«$‘m§H$ {bIZo na narjmWu H$mo
A¶mo½¶ R>ham¶m Om¶oJm&

4. AnZr CÎma-nwpñVH$m na àíZ-nÌ H$m H$moS> Z§0 69/MAY/4, goQ v {bI|&

5. (H$) n«íZ-nÌ Ho$db {hÝXr/A§J«oOr ‘mÜ¶‘ ‘| h¡& {’$a ^r, ¶{X Amn Mmh| Vmo ZrMo Xr JB© {H$gr EH$ ^mfm ‘| CÎma
Xo gH$Vo h¢ …

A§J«oOr, {hÝXr, CXÿ©, n§Om~r, ~§Jbm, V{‘b, ‘b¶mb‘, H$Þ‹S>, VobwJy, ‘amR>r, C{‹S>¶m, JwOamVr, H$m|H$Ur,
‘{Unwar, Ag{‘¶m, Zonmbr, H$í‘rar, g§ñH¥$V Am¡a {gÝYr&

H¥$n¶m CÎma-nwpñVH$m ‘| {XE JE ~m°³g ‘| {bI| {H$ Amn {H$g ^mfm ‘| CÎma {bI aho h¢&

(I) ¶{X Amn {hÝXr Ed§ A§J«oOr Ho$ A{V[aº$ {H$gr AÝ¶ ̂ mfm ‘| CÎma {bIVo h¢, Vmo àíZm| H$mo g‘PZo ‘| hmoZo dmbr
Ìw{Q>¶m|/Jb{V¶m| H$s {Oå‘oXmar Ho$db AmnH$s hmoJr&

6. àíZ-nÌ ‘| {H$gr ^r àH$ma Ho$ g§Xoh AWdm Xþ{dYm H$s pñW{V ‘| A§J«oOr AZwdmX hr ‘mÝ¶ hmoJm&
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BIOLOGY (Theory)

Ord{dkmZ ({gÕmÝV)
(314)

Time : 3 Hours ] [ Maximum Marks : 80

g‘¶ … 3 KÊQ>o ] [ nyUmªH$ … 80

Note  : (i) This Question Paper consists of 43 questions.

(ii) All questions are compulsory.

(iii) Marks are given against each question.

Section–A consists of Question Nos. 1 to 16 Multiple-choice type
questions (MCQs) carrying 1 mark each. Select and write the most
appropriate option out of the four options given in each of these
questions.

Section–B consists of Question Nos. 17 to 28 Objective-type questions
carrying 2 marks (with 2 sub-parts of 1 mark each). Attempt these
questions as per the instructions given for each of the questions.

Section–C (subjective-type) consists of Question Nos. 29 to 37 Very
short answer-type questions carrying 2 marks each to be answered in
the range of 30 to 50 words.

Section–D consists of Question Nos. 38 to 41 Short answer-type
questions carrying 3 marks each to be answered in the range of 50 to
80 words.

Section–E consists of Question Nos. 42 and 43 Long answer-type
questions carrying 5 marks each to be answered in the range of 80 to
120 words.

Internal choices have been provided in some of these questions. You
have to attempt only one of the given choices in such questions.

{ZX}e … (i) Bg àíZ-nÌ ‘| Hw$b 43 àíZ h¢&

(ii) g^r àíZ A{Zdm¶© h¢&

(iii) àË¶oH$ àíZ Ho$ A§H$ CgHo$ gm‘Zo Xem©E JE h¢&

IÊS>-H$ ‘| àíZ g§»¶m 1 go 16 VH$ ~hþ-{dH$ënr àH$ma (MCQ) Ho$ àíZ h¢& àË¶oH$ àíZ
1 A§H$ H$m h¡& {XE JE Mma {dH$ënm| ‘| go gd© g‘w{MV {dH$ën H$mo CÎma Ho$ ê$n ‘| {b{IE&

IÊS>-I ‘| àíZ g§»¶m 17 go 28 dñVw{Zð> àH$ma Ho$ àíZ h¢& àË¶oH$ àíZ 2 A§H$m| H$m h¡ (àË¶oH$
àíZ ‘| 1 A§H$ Ho$ 2 CnàíZ h¢)& {XE JE {ZX}emZwgma àíZm| Ho$ CÎma {b{IE&

IÊS>-J (ì¶{º$naH$-àH$ma) ‘| àíZ g§»¶m 29 go 37 VH$ Ho$ àíZ A{V bKw-CÎmar¶ àíZ h¢&
àË¶oH$ àíZ 2 A§H$m| H$m h¡ {OgH$m CÎma bJ^J 30 go 50 eãXm| H$m hmo gH$Vm h¡&



314/MAY/206B 4

SECTION–A

IÊS>–H$

Note : Question Nos. 1 to 16 consist of multiple-choice type questions (MCQs)
carrying 1 mark each.

{ZX}e : àíZ g§»¶m 1 go 16 VH$ ~hþ-{dH$ënr àH$ma (MCQ) Ho$ àíZ h¢& àË¶oH$ àíZ 1 A§H$ H$m h¡&

1. Self-pollination is observed in pea plants as their

(A) stamens and pistils develop at the same time (synchronous) in closed
flowers

(B) stamens and pistils develop at different times

(C) stamens and pistils are found in different plants

(D) male and female sex organs are found in different flowers 1

‘Q>a Ho$ nm¡Ym| ‘| ñdnamJU hmoVm h¡, ³¶mo§{H$ CZHo$

(A) nw§Ho$ga VWm Om¶m§J (A§S>n) EH$ hr g‘¶ na n[an¹$ hmoVo h¢ VWm nwîn nyar Vah Zht IwbVo

(B) nw§Ho$ga VWm Om¶m§J (A§S>n) {d{^Þ g‘¶m| na n[an¹$ hmoVo h¢

(C) nw§Ho$ga VWm Om¶m§J AbJ-AbJ nm¡Ym| na nmE OmVo h¢

(D) Za VWm ‘mXm OZZ A§J {dbJ-{dbJ ’y$bmo§ ‘| nmE OmVo h¢

IÊS>-K ‘| àíZ g§»¶m 38 go 41 VH$ bKw-CÎmar¶ àíZ h¢& àË¶oH$ àíZ 3 A§H$m| H$m h¡ {OgH$m
CÎma bJ^J 50 go 80 eãXm| H$m hmo gH$Vm h¡&

IÊS>-L> ‘| àíZ g§»¶m 42 VWm 43 XrK©-CÎmar¶ àíZ h¢& àË¶oH$ àíZ 5 A§H$m| H$m h¡& CÎma bJ^J
80 go 120 eãXm| H$m hmo gH$Vm h¡&

Hw$N> àíZm| ‘| Am§V[aH$ {dH$ën {XE JE h¢& AmnH$mo CZ‘| go Ho$db EH$ àíZ H$m CÎma {bIZm h¡&

(1) Answers of all questions are to be given in the Answer-Book given to you.

g^r àíZm| Ho$ CÎma AmnH$mo Xr JB© CÎma-nwpñVH$m ‘| hr {bI|&
(2) 15 minutes time has been allotted to read this question paper. The question

paper will be distributed at 2:15 p.m. From 2:15 p.m. to 2:30 p.m., the
students will read the question paper only and will not write any answer on
the Answer-Book during this period.

Bg àíZ-nÌ H$mo n‹T>Zo Ho$ {bE 15 {‘ZQ> H$m g‘¶ {X¶m J¶m h¡& àíZ-nÌ H$m {dVaU Xmonha ‘|
2:15 ~Oo {H$¶m OmEJm& Xmonha 2:15 ~Oo go 2:30 ~Oo VH$ N>mÌ Ho$db àíZ-nÌ H$mo n‹T>|Jo Am¡a
Bg Ad{Y Ho$ Xm¡amZ do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo&
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2. Fibres of plants are made up of dead tissue like coir of coconut. The tissue is

(A) parenchyma (B) sclerenchyma

(C) xylem (D) collenchyma 1

nm¡Ym| Ho$ aoeo ‘¥V D$VH$m| Ho$ ~Zo hmoVo h¢, CXmhaUV… Zm[a¶b Ho$ H$m°¶a& D$VH$ h¡

(A) ‘¥XÿVH$ (B) Ñ‹T>moVH$

(C) OmBb‘ (D) íbofmoVH$

3. Oversecretion of insulin causes

(A) hypoglycemia (B) hyperglycemia

(C) diabetes insipidus (D) stunted growth 1

B§gy{bZ Ho$ A{VòdU go hmoZo dmbm {dH$ma (amoJ) h¡

(A) Aën½byH$mogaº$Vm (hmBnmo½bmBgr{‘¶m) (B) A{V½byH$mogaº$Vm (hmBna½bmBgr{‘¶m)

(C) S>m¶{~Q>rO B§gr{nS>g (D) dm‘ZVm (~m¡ZmnZ)

4. Cambium is a/an

(A) apical meristem (B) intercalary meristem

(C) lateral meristem (D) complex tissue 1

H¡$på~¶‘ h¡ EH$

(A) erf©ñW {d^Á¶moVH$ (B) A§Vd}er {d^Á¶moVH$

(C) nmíd© {d^Á¶moVH$ (D) gpå‘l D$VH$

5. The chemical secreted by ants while walking on a trail is

(A) pheromone (B) TSH

(C) interferon (D) acetylcholine 1



314/MAY/206B 6

EH$ H$Vma (aoIm) Ho$ ê$n ‘| MbZo dmbr Mt{Q>¶m± EH$ {deof agm¶Z òm{dV H$aVr h¢, dh h¡

(A) ’$samo‘moZ (B) TSH

(C) B§Q>a’o$amoZ (D) EogrQ>mBbH$mobmBZ

6. Which of the following is not a photosynthetic pigment? 1

(A) Chlorophyll (B) Carotenoids

(C) Xanthophyll (D) Leghaemoglobin

{ZåZ{b{IV ‘| go H$m¡Z-gm dU©H$ àH$me-g§íbofr dU©H$ Zht h¡?

(A) nU©h[aV (³bmoamo{’$b) (B) H¡$amo{Q>Zm°¶S>

(C) O¡ÝWmo{’$b (D) boJhr‘mo½bmo{~Z

7. During collection of ova from females for having test tube babies, which of
the following hormones is administered? 1

(A) FSH (B) Oxytocin

(C) Testosterone (D) Prolactin

Q>oñQ> Q>çy~ ~o~r (naIZbr {eew) àmá H$aZo Ho$ {bE {ó¶m| (‘{hbm) go A§S>mUw (A§S>) ‘mo{MV H$amZo
Ed§ EH$Ì H$aZo hoVw H$m¡Z-gm hm°‘m}Z {Zdo{eV {H$¶m OmVm?

(A) FSH (B) Am°³grQ>mo{gZ

(C) Q>oñQ>mopñQ>am°Z (D) àmob¡p³Q>Z

8. Oxytocin is the hormone secreted by pituitary for

(A) uterine contraction for childbirth (B) formation of corpus luteum

(C) ovulation (D) menstrual cycle 1

{nQ>çyQ>ar (nr¶yf) J«§{W Ûmam òm{dV hm°‘m}Z Am°³grQ>mo{gZ H$m H$m¶© h¡

(A) àgd hoVw J^m©e¶ ‘| g§Hw$MZ (B) nrV qnS> (H$m°n©g ë¶w{Q>¶‘) H$m ~ZZm

(C) A§S>moËgJ© (D) G Vwòmd
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9. The types of inflorescence with one example each are given below. Identify
the wrong pair. 1

(A) Hypanthodium — fig (B) Umbel — coriander

(C) Cymose — wheat (D) Racemose — mustard

nwînH«$‘ Ho$ àH$ma H$m CgHo$ EH$ CXmhaU Ho$ gmW {‘bmZ H$aHo$ {ZåZ ê$n go Xem©¶m J¶m h¡& JbV
¶w½‘ dmbo {dH$ën H$m M¶Z H$s{OE&

(A) hmBn¡ÝWmo{S>¶‘ — A§Ora (B) N>ÌH$ (Aå~ob) — Y{Z¶m

(C) ggr‘mjr — Johÿ± (D) Agr‘mjr — gagm|

10. What would be the genotype of the parents if offsprings have the phenotypes
in 1 : 1 proportion? 1

(A) Tt × Tt (B) TT × TT

(C) Tt × TT (D) Tt × tt

¶{X {H$gr g§H$aU go CËnÞ g§V{V¶m| Ho$ bjUàê$n (’$sZmoQ>mBn) 1 : 1 AZwnmV ‘| hm|, Vmo CZHo$ OZH$m|
H$m OrZr (OrZmoQ>mBnr) àê$n ³¶m hmoJm?

(A) Tt × Tt (B) TT × TT

(C) Tt × TT (D) Tt × tt

11. Bacteria are preferred in experiments of recombinant DNA technology
because

(A) bacteria have a huge single chromosome

(B) they have extranuclear chromosomes—the plasmid

(C) their chromosomes have exons and introns

(D) they have pili on their body surface 1
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nwZ¶m}JO DNA àm¡Úmo{JH$s Ho$ à¶moJm| ‘| ~¡³Q>r[a¶m H$mo dar¶Vm Xr OmVr h¡, ³¶m|{H$

(A) ~¡³Q>r[a¶m ‘| EH$ {demb EH$b JwUgyÌ hmoVm h¡

(B) A{V[aº$ JwUgyÌr¶ AUw—"ßbmpÁ‘S>' hmoVo h¢

(C) BgHo$ JwUgyÌm| ‘| E³gm°Z VWm BÝQ´>m°Z hmoVo h¢

(D) BgHo$ eara H$s gVh na nmBbmB© hmoVo h¢

12. Elderly people often get their bones fractured during a slightest fall. The
possible condition diagnosed in them is

(A) obesity (B) osteomalacia/osteoporosis

(C) anaemia (D) rickets 1

d¥Õ ì¶{º$¶mo§ H$s h{È>¶m± hëH$m-gm ^r AmKmV bJZo go Qy>Q> OmVr h¢& BgH$m gd©g§^m{dV (g§^mì¶) H$maU h¡

(A) ‘moQ>mnm (B) Am°pñQ>¶mo‘¡b¡{g¶m (ApñW‘¥XþVm)

(C) Aaº$Vm (D) [aHo$Q²>g

13. Fraternal twins are produced when

(A) two ova are fertilized by two sperms

(B) fertilized ovum divides into two independent cells each develops into
two separate individuals

(C) ova are developed into two embryos without fertilization

(D) twins produced from one egg fail to separate 1

A{^Þ Ow‹S>dm± V~ CËnÞ hmoVo h¢ O~

(A) Xmo A§S> Xmo AbJ-AbJ ewH«$mUwAm| Ûmam {Zfo{MV hmoVo h¢

(B) {Zfo{MV A§S> Xmo ‘| {d^m{OV hmo OmVm h¡ VWm XmoZm| H$mo{eH$mE± ñdV§Ì ê$n go n[ad{Y©V hmo AbJ-
AbJ ì¶{ï>¶m| H$mo OÝ‘ XoVr h¢

(C) A{Zfo{MV A§S> Xmo ^«yU ~ZmVo h¢

(D) EH$ A§S> Ûmam CËnÞ Ow‹S>dm± ~ƒo EH$-Xÿgao go AbJ Zht hmo nmVo
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14. Cyanocobalamin is

(A) vitamin A (B) vitamin D

(C) vitamin B12 (D) vitamin C 1

gm¶ZmoH$mo~mbo{‘Z h¡

(A) {dQ>m{‘Z A (B) {dQ>m{‘Z D

(C) {dQ>m{‘Z B12 (D) {dQ>m{‘Z C

15. Restriction enzymes are also called

(A) ligases (B) molecular scissors

(C) isomerases (D) polymerases 1

à{V~§YZ àH$sÊd (E§OmB‘m|) H$mo _____ Zm‘ go ^r OmZm OmVm h¡&

(A) bmBJoO (B) AmpÊdH$ H¢$Mr

(C) AmBgmo‘aoO (D) nm°br‘aoO

16. The important character brought into Bt cotton is

(A) resistance towards pests (B) shiny fibre

(C) production of antibiotic (D) rich carbohydrate 1

Bt H$nmg ‘| à{VñWm{nV dm§{N>V ‘hÎdnyU© bjU ³¶m h¡?

(A) nr‹S>H$-amoYr (B) M‘H$Xma aoeo

(C) à{VO¡{dH$m| H$m {Z‘m©U/CËnmXZ (D) H$m~m}hmBŚ>oQ> g‘¥Õ
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SECTION–B

IÊS>–I

Note : Question Nos. 17 to 28 are objective-type questions carrying 2 marks
each.

{ZX}e : àíZ g§»¶m 17 go 28 VH$ dñVw{Zð> àH$ma Ho$ àíZ h¢& àË¶oH$ àíZ 2 A§H$m| H$m h¡&

17. The flow of blood is shown in diagram through heart, labelled as A, B, C
and D. Identify any two of them. 1+1=2

                      

{ZåZ {MÌ ‘| öX¶ Ûmam é{Ya n[ag§MaU nW H$mo Xem©¶m J¶m h¡& {XE JE A, B, C VWm D ‘| go
{H$Ýht Xmo ñWmZmo§ H$s g‘w{MV ny{V© H$s{OE :
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18. Write appropriate answers in the blanks (attempt any two) : 1×2=2

(a) _____ tissue is protective.

(b) Blood is _____ tissue.

(c) The tissue that conducts food material in plants is _____.

(d) Palisade parenchyma is found in _____ organ.

g‘w{MV CÎmam| Ûmam {ZåZ{b{IV ‘| go {H$Ýht Xmo [aº$ ñWmZm| H$s ny{V© H$s{OE :

(H$) _____ EH$ ajr D$VH$ h¡&

(I) é{Ya (aº$) EH$ _____ D$VH$ h¡&

(J) nm¡Ym| ‘| ImÚ nXmWm] H$m AÝ¶ ^mJm| VH$ dhZ H$aZo dmbm D$VH$ h¡ _____&

(K) n¡brgoS> D$VH$ _____ A§J ‘| nm¶m OmVm h¡&

19. Match the items of Column–I by selecting suitable option from
Column–II : 1+1=2

Column–I   Column–II

(a) The largest lymphoid organ (i) Liver

(b) Bone marrow (ii) Spleen

(iii) Thyroid

(iv) Haemopoiesis

H$m°b‘–I ‘| Xr JB© ‘Xm| Ho$ {bE H$m°b‘–II ‘| Xr JB© ‘Xm| ‘| go g‘w{MV {‘bmZ H$m M¶Z H$s{OE :

     H$m°b‘–I      H$m°b‘–II

(a) g~go ~‹S>r bgrH$m^ J«pÝW (i) ¶H¥$V²

(b) ApñW‘‚mm (ii) ßbrhm

(iii) Wm¶am¶S>

(iv) hr‘monmoB{gg (aº$moËn{Îm)
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20. Identify the wrong statements (any two ) : 1+1=2

(a) Gametes are unicellular haploid.

(b) Spores have haploid nucleus.

(c) Zygotes have diploid nucleus.

(d) Zoospores are non-motile.

JbV H$WZmo§ H$mo nhMm{ZEa (H$moB© Xmo) :

(H$) ¶w½‘H$ AJw{UV VWm EH$H$mo{eH$s¶ hmoVo h¢&

(I) ~rOmUw ‘| AJw{UV Ho$ÝÐH$ hmoVm h¡&

(J) ¶w½‘ZO ‘| {ÛJw{UV Ho$ÝÐH$ hmoVm h¡&

(K) Oyñnmoa AMa hmoVo h¢&

21. Match the items of Column–I by selecting suitable option from
Column–II : 1+1=2

Column–I Column–II

(a) Aggregate fruits (i) Develop from inflorescence

(b) Simple fruits (ii) Develop from polycarpellary ovary

(iii) Develop from single ovary

(iv) Parthenocarpic fruit

H$m°b‘–I ‘| Xr JB© ‘Xm| Ho$ {bE H$m°b‘–II ‘| Xr JB© ‘Xm| H$m M¶Z H$a g‘w{MV {‘bmZ H$s{OE :

         H$m°b‘–I          H$m°b‘–II

(a) nw§O’$b (i) nwînH«$‘ go {dH${gV

(b) gab’$b (ii) ~hþA§S>nr AÊS>me¶ go {dH${gV

(iii) EH$ EH$b AÊS>me¶ go {dH${gV

(iv) A{ZfoH$OZr ’$b
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22. Write two differences between DNA and RNA. 1+1=2

DNA VWm RNA Ho$ ~rM Xmo AÝVa ({d{^ÞVmE±) {b{IE&

23. Match the items given in Column–I with the suitable items given in
Column–II : 2

            Column–I          Column–II

(a) Acrosome (i) Contains mitochondria

(b) Neck of sperm (ii) Centriole

(iii) Flagellum

(iv) Contains enzymes

H$m°b‘–I ‘| {XE JE ‘Xm| H$m H$m°b‘–II ‘| {XE JE g‘w{MV ‘Xm| Ho$ gmW {‘bmZ H$s{OE :

   H$m°b‘–I              H$m°b‘–II

(a) AJ«qnS>H$ (EH«$mogmo‘) (i) ‘| ‘mBQ>moH$m°pÝS´>¶m nmE OmVo h¢

(b) ewH«$mUw J«rdm (ii) g|Q´>r¶mob

(iii) H$em^ (âb¡Ob‘)

(iv) ‘| àH$sÊd (E§OmB‘) hmoVo h¢

24. Identify A and B from the diagram given below : 1+1=2
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{XE JE {MÌ ‘| A VWm B H$mo nhMm{ZE VWm Zm‘m§{H$V H$s{OE :

25. Some people tend to take vitamins in excessive amounts. Excessive intake
of water-soluble vitamin may not cause harm. But the excess amount of
fat-soluble ones are poisonous to body.

(a) What is hypervitaminosis?

(b) Name two fat-soluble vitamins. 1+1=2

Hw$N> ì¶{º$¶m| ‘| {dQ>m{‘Zm| Ho$ AË¶{YH$ ‘mÌm Ho$ godZ H$aZo H$s àd¥{Îm hmoVr h¡& Ob ‘| {dbo¶ {dQ>m{‘Zm|
H$s A{YH$ ‘mÌm go g§^dV… hm{Z Z ^r hmo, naÝVw, dgm ‘| {dbo¶ {dQ>m{‘Zm| H$s A{YH$Vm eara Ho$
{bE hm{ZH$maH$ hmoVr h¡&

(H$) A{V{dQ>m{‘ZVm ³¶m h¡?

(I) dgm ‘| {dbo¶ (KwbZerb) Xmo {dQ>m{‘Zm| Ho$ Zm‘ {b{IE&

26. Red-green colour blindness is a sex-linked disorder. Observe the flow chart
of the disease given below :

(a) Which parent is contributing the gene for colour blindness to the
offspring?

(b) What are the chances of the daughters showing the disease to these
parents? 1+1=2
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bmb-har dUmªYVm EH$ qbJ ghb¾ {dH$ma h¡& BgHo$ àdmh AmaoI H$m AÜ¶¶Z H$s{OE :

(H$) Cnamoº$ ‘| H$m¡Z-go OZH$ go dUmªYVm H$m OrZ g§V{V ‘| d§emJV hmo ahm h¡?

(I) BZ OZH$m| H$s nw{Ì¶m| Ho$ Bg {dH$ma go J«ñV hmoZo H$s ³¶m g§^mì¶Vm h¡?

27. Study the following passage and fill in the blanks with appropriate words
[attempt any two parts from A–D] : 1+1=2

      A  is an association between maternal and foetal tissue.       B  is a

tough structure which serves as the blood vascular connection between

foetus and uterine wall. The embryo is enclosed in a sac called       C , which

is filled with       D . It acts as shock absorber to protect embryo

from damage.

{ZåZ{b{IV n[aÀN>oX H$m AÜ¶¶Z H$aHo$ [aº$ ñWmZ A, B, C VWm D ‘| go {H$Ýht Xmo ñWmZm| H$s ny{V©
g‘w{MV nXm| (eãXm|) Ûmam H$s{OE :

      A  ‘mVm VWm ^«yU Ho$ D$VH$m| Ho$ ~rM EH$ gå~ÝY h¡& n[adY©ZH$mar ^«yU VWm J^m©e¶ H$s {^{Îm

Ho$ ~rM EH$ ‘O~yV g§aMZm       B  hmoVr h¡ Omo n[adY©Zerb ^«yU VWm J^m©e¶ Ho$ ~rM é{Ya g§dhZ-

gå~ÝY ñWm{nV H$aVr h¡& ^«yU EH$ W¡br ‘| ~§X hmo OmVm h¡ {Ogo       C  H$hVo h¢& Bg‘|       D

^am hmoVm h¡ Omo ^«yU H$mo Y¸$m| go ~MmVm h¡ VWm ^«yU H$mo j{VJ«ñV hmoZo go ~MmZo ‘| ghm¶H$

hmoVm h¡&
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28. Given below is the sequence to succession of communities in a habitat. Fill
in the gaps A and B with appropriate answer : 1+1=2

{H$gr Amdmg ‘| {d{^Þ g‘wXm¶m| Ho$ AZwH«$‘U Ho$ gwì¶dpñWV AZwH«$‘ H$mo {ZåZ ê$n go Xem©¶m J¶m
h¡¡& Bg‘| {XE JE [aº$ ñWmZ A VWm B H$s ny{V© g‘w{MV CÎma Ûmam H$s{OE :

      

SECTION–C

IÊS>–J

Note : Question Nos. 29 to 37 are very short answer-type questions carrying
2 marks each.

{ZX}e : àíZ g§»¶m 29 go 37 VH$ A{V bKw-CÎmar¶ àíZ h¢& àË¶oH$ àíZ 2 A§H$m| H$m h¡&

29. Which tissue bears the following characters? 2

(a) Small and compactly packed cells which divide continuously.

(b) End walls open and cells join to form a long tube having dead cell
wall.

H$m¡Z-go D$VH$ {ZåZ{b{IV A{^bjU Xem©Vo h¢?

(H$) N>moQ>r-N>moQ>r g§h{V¶m| Ho$ KZr^yV {d^mOZerb EH$ gÑí¶ Or{dV H$mo{eH$mAm| H$m g‘yh&

(I) ‘moQ>r H$mo{eH$m {^{Îm¶wº$ ‘¥V H$mo{eH$mE± {OZH$s A§Ë¶{^{Îm¶m± Iwbr hmoVr h¢ Am¡a nañna Ow‹S>H$a
b§~r Z{bH$mE± ~ZmVr h¢&

30. Why are bacteria called monerans. Support your answer giving any two
characters. 2

~¡³Q>r[a¶m H$mo ‘moZoam OJV² Ho$ AÝVJ©V ³¶m| aIm J¶m h¡? AnZo CÎma Ho$ g‘W©Z ‘| BgHo$ {H$Ýht Xmo
A{^bjUm| H$m C„oI H$s{OE&
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Or / AWdm

Maize is a monocot plant. Give any two valid reasons for considering of so.

‘¸$m EH$ EH$~rOnÌr nm¡Ym h¡& BgH$mo Bg dJ© ‘| aIZo Ho$ g‘W©Z ‘| Xmo gmW©H$ H$maU {b{IE&

31. With the help of lined diagram only, show the structural components of
a habitat. 2

EH$ aoIr¶ AmaoI H$s ghm¶Vm go EH$ Amdmg Ho$ g§aMZmË‘H$ KQ>H$m| H$mo Xem©BE&

32. Name two types of enzymes produced in large scale through genetic
engineering. Mention one use of each of enzymes. 2

AmZwd§{eH$ A{^¶m§{ÌH$s Ûmam ì¶mnH$ ñVa na CËnm{XV Xmo àH$ma Ho$ E§OmB‘m| Ho$ Zm‘ {b{IE& àË¶oH$
E§OmB‘ H$m EH$ Cn¶moJ ^r {b{IE&

Or / AWdm

Write the names of two hormones produced in large scale through
recombinant DNA technology. Name one therapeutic application for each.

nwZ¶m}JO S>r0EZ0E0 àm¡Úmo{JH$s Ûmam ì¶mnH$ ñVa na CËnm{XV Xmo hm°‘m}Zm| Ho$ Zm‘ {b{IE& {M{H$Ëgr¶
CnMma ‘| àË¶oH$ hm°‘m}Z H$m Cn¶moJ {b{IE&

33. Tetracycline is a broad spectrum antibiotic. Why do we say so? What is the
source of it? 2

Q>oQ´>mgmB³brZ EH$ ì¶mnH$ namg à{VO¡{dH$ (~«m°S> ñn¡³Q´>‘ E|Q>r~m¶mo{Q>H$) h¡&  Q>oQ´>mgmB³brZ H$mo EH$
ì¶mnH$ namg à{VO¡{dH$ (~«m°S> ñn¡³Q´>‘ E|Q>r~m¶mo{Q>H$) ³¶m| H$hVo h¢? BgHo$ òmoV Ord H$m Zm‘ {b{IE&

34. Write any four important functions of proteins in our body. 2

h‘mao eara ‘| àmoQ>rZ Ho$ H$moB© Mma ‘hÎdnyU© àH$m¶© {b{IE&
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35. Brain is covered by three membranes called _____. The space between

them is filled with _____ fluid. 2

h‘mam ‘pñVîH$ VrZ {P{„¶m| go Amd¥V hmoVm h¡ {OÝho§ _____ H$hVo h¢& BZHo$ ~rM H$s OJh ‘| EH$

Vab ^am hmoVm h¡ {Ogo _____ H$hVo h¢&

36. How do immigration and emigration affect the existing population

density? 2

AmàdmgZ VWm CËàdmgZ {H$gr dV©‘mZ g‘{ï> KZËd H$mo {H$g àH$ma à^m{dV H$aVo h¢?

Or / AWdm

A rapidly growing population has more number of individuals of

reproductive age. What is the growth pattern of the population, if more

pre-reproductive individuals are present in the population?

Vrd«Vm go d¥{Õ H$aVr g‘{ï> (OZg§»¶m) ‘| OZZj‘ ì¶{ï>¶m| H$s g§»¶m ~hþV A{YH$ hmoVr h¡& ¶{X

g‘{ï> ‘| OZZnyd© dJ© Ho$ gXñ¶m| H$s g§»¶m A{YH$ hmo, Vmo g‘{ï> d¥{Õ H$m n¡Q>Z© ³¶m hmoJm?

37. Write the names of two organisms belong to each one of the following groups : 2

(a) Arthropoda

(b) Aves

{ZåZ{b{IV dJm] ‘| go àË¶oH$ dJ© Ho$ Xmo Ordm| (OÝVwAm|) Ho$ Zm‘ {b{IE :

(H$) g§{YnmX (AmW«m}nmoS>m)

(I) njr (EdrO)
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SECTION–D

IÊS>–K

Note : Question Nos. 38 to 41 are short answer-type questions carrying
3 marks each.

{ZX}e : àíZ g§»¶m 38 go 41 bKw-CÎmar¶ àíZ h¢ VWm àË¶oH$ àíZ 3 A§H$m| H$m h¡&

38. (a) Briefly explain the transformation in bacteria.

(b) Why do we consider DNA replication as semiconservative? Explain

briefly. 3

(H$) OrdmUwH$ ê$nm§VaU H$s g§{já ì¶m»¶m H$s{OE&

(I) S>r0EZ0E0 (DNA) à{VH¥${V¶Z H$mo AY©g§ajr ³¶m| ‘mZm OmVm h¡? g§{já ì¶m»¶m H$s{OE&

Or / AWdm

Draw a replicating DNA molecule showing—

(a) parental strand;

(b) Okazaki fragments;

(c) leading strand;

(d) replication fork.

à{VH¥${V¶Z H$aVo DNA AUw H$m AmaoI ~ZmBE VWm Bg‘| {ZåZ{b{IV H$mo Xem©BE VWm Zm‘m§{H$V
H$s{OE :

(H$) OZH$ a‚mwH$

(I) AmoH$mµOmH$s I§S>

(J) brqS>J a‚mwH$

(K) à{VH¥${V {ÛemI
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39. Define the following terms : 3

(a) Amnion

(b) Demography

(c) Population growth rate

{ZåZ{b{IV nXm| H$s n[a^mfm {b{IE :

(H$) Cë~

(I) OZgm§p»¶H$s

(J) OZg§»¶m (g‘{ï>) d¥{Õ Xa

Or / AWdm

Write three effects of uncontrolled population growth on a nation.

A{Z¶§{ÌV Cƒ OZg§»¶m d¥{Õ {H$gr Xoe H$mo {H$g àH$ma à^m{dV H$aVr h¡, BgHo$ VrZ à^md {b{IE&

40. Write the name of one surgical method of contraception carried on in
human males. Explain how it is performed. 3

nwéfm| (‘mZd Za) ‘| J^©{ZamoY H$s {H$gr EH$ eë¶{M{H$Ëgr¶ {d{Y H$m Zm‘ {bIH$a BgH$s {d{Y H$s
ì¶m»¶m H$s{OE&

Or / AWdm

Write the name of one contraception carried on in human females. Describe
the procedure adopted for it.

{ó¶m| (‘mZd ‘mXm) ‘| J^©{ZamoY H$s {H$gr EH$ eë¶{M{H$Ëgr¶ {d{Y H$m Zm‘ {b{IE VWm ì¶m»¶m
H$s{OE {H$ ¶h {H$g àH$ma gånÞ H$s OmVr h¡&
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41. Draw a neat diagram of a typical bisexual dicotyledonous flower and label
its four whorls (parts) : 3

EH$ {Û~rOnÌr {ÛqbJr àmê$nr nwîn H$m gm’$ {MÌ ~ZmH$a BgHo$ Mma MH«$m| (à‘wI ^mJm|) H$mo Zm‘m§{H$V
H$s{OE&

SECTION–E

IÊS>–L>

Note : Question Nos. 42 and 43 are long answer-type questions carrying
5 marks each.

{ZX}e : àíZ g§»¶m 42 VWm 43 XrK©-CÎmar¶ àíZ h¢ VWm àË¶oH$ àíZ 5 A§H$m| H$m h¡&

42. Draw a transverse section of a dicot root and label the following parts : 5

Epiblema, cortex, endodermis, pericycle, protoxylem, metaxylem,
phloem and pith

EH$ {Û~rOnÌr O‹S> H$s AZwàñW H$mQ> H$m {MÌ ~ZmBE VWm {ZåZ{b{IV ^mJm| H$mo Zm‘m§{H$V H$s{OE :

Enrãbo‘m, dëHw$Q> (H$m°Q>}³g), A§VñËdMm, n[aaå^, àmoQ>moOmBb‘ (àmH²$Xmé), ‘oQ>mOmBb‘, âbmo¶‘
VWm {nW

Or / AWdm

(a) With the help of a diagram, describe the structure of stomatal
apparatus of a dicot leaf.

(b) Where are they located in xerophytes?

(c) What are bulliform cells? Where are they found? Write one important
function of these cells. 5

(H$) EH$ {MÌ H$s ghm¶Vm go EH$ {Û~rOnÌr nÎmr Ho$ a§Y« CnH$aU H$s g§aMZm H$m dU©Z H$s{OE&

(I) ‘éX²{^X² nm¡Ym| ‘| do H$hm± AdpñWV hmoVo h¢?

(J) ~wbr’$m°‘© H$mo{eH$mE± ³¶m h¢? CZH$s AdpñW{V VWm EH$ ‘hÎdnyU© H$m¶© H$m C„oI H$s{OE&
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43. Following is the information given with regard to the respiratory processes
in living beings. Fill in the gaps with appropriate answers : 1×5=5

  2

2 2

T  

Cytoplasm and
        Aerobic — —

  mitochondria

      Anaerobic — —  CO  + 2 ATP

     Krebs cycle —  Mitochondria CO  + NADH

ype of  respiration Raw material Site     Products

gOrdmo| ‘| ídgZ àH«$‘ Ho$ g§~§Y ‘| Hw$N> gyMZm {ZåZ{b{IV ê$n go Xr JB© h¡& g‘w{MV CÎma Ûmam [aº$
ñWmZm| H$s ny{V© H$s{OE :

2

2 2

    — —

   — —  CO  + 2 ATP

   —  CO  + NADH

ídgZ H$m  àH$ma H$ƒm nXmW© {dñWb CËnmX      

H$mo{eH$mÐd VWmdm¶dr¶
  ‘mBQmoH$m°pÝS¶́m

Adm¶dr¶

H$o« ãg MH$« ‘mBQmoH$m°pÝS¶́m

Or / AWdm

Complete the following statements : 1×5=5

(a) Muscular pain we get after prolonged exercise is due to _____.

(b) Lenticels are found in _____. Their function is _____.

(c) Each NADH2 molecule produces _____ ATP molecules.

(d) Photosynthesis is a _____ path and respiration is a catabolic path.
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{ZåZ{b{IV H$WZm| ‘| [aº$ ñWmZm| H$s ny{V© H$aHo$ nyam H$s{OE :

(H$) AË¶{YH$ ì¶m¶m‘ Ho$ níMmV² hmoZo dmbr nr‹S>m H$m H$maU h¡ _____&

(I) _____ ‘| dmVa§Y« nmE OmVo h¢ VWm BZH$m H$m¶© h¡ _____&

(J) àË¶oH$ NADH2 AUw go ATP Ho$ _____ AUw {Z{‘©V hmoVo h¢&

(K) àH$me-g§íbofU EH$ _____ nW h¡ VWm ídgZ EH$ AnM¶r nW h¡&


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D$na N>nr h¡& Bg ~mV H$s Om±M ^r H$a b| {H$ àíZ H«${‘H$ ê$n ‘| h¢&

3. CÎma-nwpñVH$m ‘| nhMmZ-{M• ~ZmZo AWdm {Z{X©ï> ñWmZm| Ho$ A{V[aº$ H$ht ̂ r AZwH«$‘m§H$ {bIZo na narjmWu H$mo
A¶mo½¶ R>ham¶m Om¶oJm&

4. AnZr CÎma-nwpñVH$m na àíZ-nÌ H$m H$moS> Z§0 69/MAY/4, goQ w {bI|&

5. (H$) n«íZ-nÌ Ho$db {hÝXr/A§J«oOr ‘mÜ¶‘ ‘| h¡& {’$a ^r, ¶{X Amn Mmh| Vmo ZrMo Xr JB© {H$gr EH$ ^mfm ‘| CÎma
Xo gH$Vo h¢ …

A§J«oOr, {hÝXr, CXÿ©, n§Om~r, ~§Jbm, V{‘b, ‘b¶mb‘, H$Þ‹S>, VobwJy, ‘amR>r, C{‹S>¶m, JwOamVr, H$m|H$Ur,
‘{Unwar, Ag{‘¶m, Zonmbr, H$í‘rar, g§ñH¥$V Am¡a {gÝYr&

H¥$n¶m CÎma-nwpñVH$m ‘| {XE JE ~m°³g ‘| {bI| {H$ Amn {H$g ^mfm ‘| CÎma {bI aho h¢&

(I) ¶{X Amn {hÝXr Ed§ A§J«oOr Ho$ A{V[aº$ {H$gr AÝ¶ ̂ mfm ‘| CÎma {bIVo h¢, Vmo àíZm| H$mo g‘PZo ‘| hmoZo dmbr
Ìw{Q>¶m|/Jb{V¶m| H$s {Oå‘oXmar Ho$db AmnH$s hmoJr&

6. àíZ-nÌ ‘| {H$gr ^r àH$ma Ho$ g§Xoh AWdm Xþ{dYm H$s pñW{V ‘| A§J«oOr AZwdmX hr ‘mÝ¶ hmoJm&
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BIOLOGY (Theory)

Ord{dkmZ ({gÕmÝV)
(314)

Time : 3 Hours ] [ Maximum Marks : 80

g‘¶ … 3 KÊQ>o ] [ nyUmªH$ … 80

Note  : (i) This Question Paper consists of 43 questions.

(ii) All questions are compulsory.

(iii) Marks are given against each question.

Section–A consists of Question Nos. 1 to 16 Multiple-choice type
questions (MCQs) carrying 1 mark each. Select and write the most
appropriate option out of the four options given in each of these
questions.

Section–B consists of Question Nos. 17 to 28 Objective-type questions
carrying 2 marks (with 2 sub-parts of 1 mark each). Attempt these
questions as per the instructions given for each of the questions.

Section–C (subjective-type) consists of Question Nos. 29 to 37 Very
short answer-type questions carrying 2 marks each to be answered in
the range of 30 to 50 words.

Section–D consists of Question Nos. 38 to 41 Short answer-type
questions carrying 3 marks each to be answered in the range of 50 to
80 words.

Section–E consists of Question Nos. 42 and 43 Long answer-type
questions carrying 5 marks each to be answered in the range of 80 to
120 words.

Internal choices have been provided in some of these questions. You
have to attempt only one of the given choices in such questions.

{ZX}e … (i) Bg àíZ-nÌ ‘| Hw$b 43 àíZ h¢&

(ii) g^r àíZ A{Zdm¶© h¢&

(iii) àË¶oH$ àíZ Ho$ A§H$ CgHo$ gm‘Zo Xem©E JE h¢&

IÊS>-H$ ‘| àíZ g§»¶m 1 go 16 VH$ ~hþ-{dH$ënr àH$ma (MCQ) Ho$ àíZ h¢& àË¶oH$ àíZ
1 A§H$ H$m h¡& {XE JE Mma {dH$ënm| ‘| go gd© g‘w{MV {dH$ën H$mo CÎma Ho$ ê$n ‘| {b{IE&

IÊS>-I ‘| àíZ g§»¶m 17 go 28 dñVw{Zð> àH$ma Ho$ àíZ h¢& àË¶oH$ àíZ 2 A§H$m| H$m h¡ (àË¶oH$
àíZ ‘| 1 A§H$ Ho$ 2 CnàíZ h¢)& {XE JE {ZX}emZwgma àíZm| Ho$ CÎma {b{IE&

IÊS>-J (ì¶{º$naH$-àH$ma) ‘| àíZ g§»¶m 29 go 37 VH$ Ho$ àíZ A{V bKw-CÎmar¶ àíZ h¢&
àË¶oH$ àíZ 2 A§H$m| H$m h¡ {OgH$m CÎma bJ^J 30 go 50 eãXm| H$m hmo gH$Vm h¡&
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SECTION–A

IÊS>–H$

Note : Question Nos. 1 to 16 consist of multiple-choice type questions (MCQs)
carrying 1 mark each.

{ZX}e : àíZ g§»¶m 1 go 16 VH$ ~hþ-{dH$ënr àH$ma (MCQ) Ho$ àíZ h¢& àË¶oH$ àíZ 1 A§H$ H$m h¡&

1. Select the option which correctly depicts the sequence of events for secretion
of thyroxine. 1

(A) Hypothalamus  Pituitary  TSH  Thyroid  Thyroxine in blood

(B) Pituitary  Hypothalamus  TSH  Thyroid  Thyroxine in blood

(C) TSH  Hypothalamus  Thyroid  Pituitary  Thyroxine in blood

(D) Hypothalamus  TSH  Pituitary  Thyroid  Thyroxine in blood

IÊS>-K ‘| àíZ g§»¶m 38 go 41 VH$ bKw-CÎmar¶ àíZ h¢& àË¶oH$ àíZ 3 A§H$m| H$m h¡ {OgH$m
CÎma bJ^J 50 go 80 eãXm| H$m hmo gH$Vm h¡&

IÊS>-L> ‘| àíZ g§»¶m 42 VWm 43 XrK©-CÎmar¶ àíZ h¢& àË¶oH$ àíZ 5 A§H$m| H$m h¡& CÎma bJ^J
80 go 120 eãXm| H$m hmo gH$Vm h¡&

Hw$N> àíZm| ‘| Am§V[aH$ {dH$ën {XE JE h¢& AmnH$mo CZ‘| go Ho$db EH$ àíZ H$m CÎma {bIZm h¡&

(1) Answers of all questions are to be given in the Answer-Book given to you.

g^r àíZm| Ho$ CÎma AmnH$mo Xr JB© CÎma-nwpñVH$m ‘| hr {bI|&
(2) 15 minutes time has been allotted to read this question paper. The question

paper will be distributed at 2:15 p.m. From 2:15 p.m. to 2:30 p.m., the
students will read the question paper only and will not write any answer on
the Answer-Book during this period.

Bg àíZ-nÌ H$mo n‹T>Zo Ho$ {bE 15 {‘ZQ> H$m g‘¶ {X¶m J¶m h¡& àíZ-nÌ H$m {dVaU Xmonha ‘|
2:15 ~Oo {H$¶m OmEJm& Xmonha 2:15 ~Oo go 2:30 ~Oo VH$ N>mÌ Ho$db àíZ-nÌ H$mo n‹T>|Jo Am¡a
Bg Ad{Y Ho$ Xm¡amZ do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo&
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Wm¶am°p³gZ Ho$ òmdU Ho$ {bE n[aKQ>ZmAm| Ho$ ghr AZwH«$‘ H$mo Xem©Zo dmbo àdmh AmaoI H$m M¶Z H$s{OE :

(A) AYüoVH$ (hmBnmoW¡bo‘g)  nr¶yf ({nQ>çwQ>ar)  TSH  AdQw> (Wm¶am°¶S>)  é{Ya ‘|
Wm¶am°p³gZ H$m òmdU

(B) nr¶yf ({nQ>çwQ>ar)  AYüoVH$ (hmBnmoW¡bo‘g)  TSH  AdQw> (Wm¶am°¶S>)  é{Ya ‘|
Wm¶am°p³gZ H$m òmdU

(C) TSH  AYüoVH$ (hmBnmoW¡bo‘g)  AdQw> (Wm¶am°¶S>)  nr¶yf ({nQ>çwQ>ar)  é{Ya ‘|
Wm¶am°p³gZ H$m òmdU

(D) AYüoVH$ (hmBnmoW¡bo‘g)  TSH  nr¶yf ({nQ>çwQ>ar)  AdQw> (Wm¶am°¶S>)  é{Ya ‘|
Wm¶am°p³gZ H$m òmdU

2. Self-pollination is observed in pea plants as their

(A) stamens and pistils develop at the same time (synchronous) in closed
flowers

(B) stamens and pistils develop at different times

(C) stamens and pistils are found in different plants

(D) male and female sex organs are found in different flowers 1

‘Q>a Ho$ nm¡Ymo§ ‘| ñdnamJU hmoVm h¡, ³¶mo§{H$ CZHo$

(A) nw§Ho$ga VWm Om¶m§J (A§S>n) EH$ hr g‘¶ na n[an¹$ hmoVo h¢ VWm nwîn nyar Vah Zht IwbVo

(B) nw§Ho$ga VWm Om¶m§J (A§S>n) {d{^Þ g‘¶m| na n[an¹$ hmoVo h¢

(C) nw§Ho$ga VWm Om¶m§J AbJ-AbJ nm¡Ym| na nmE OmVo h¢

(D) Za VWm ‘mXm OZZ A§J {dbJ-{dbJ ’y$bmo§ ‘| nmE OmVo h¢

3. Which one of the following is not a characteristic feature of flatworms
(Platyhelminthes)? 1

(A) No digestive system (B) Having scolex

(C) Mostly parasitic (D) Coelomate

{ZåZ{b{IV ‘| go H$m¡Z-gm MnQ>o H¥${‘ (ßboQ>rhopë‘¨WrO) H$m A{^bjU Zht h¡?

(A) AmhmaZmb H$m A^md (B) MyfH$ hmoVo h¢

(C) A{YH$Va naOrdr (D) dmñV{dH$ Xoh Jwhm (grbmo‘¶wº$)
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4. In a plant, apical meristem is located at

(A) root tip only (B) shoot tip only

(C) both root tip and shoot tip (D) cambium 1

erf©ñW {d^Á¶moVH$ H$s nm¡Yo ‘| AdpñW{V h¡

(A) Ho$db ‘yb (O‹S>) Ho$ erf© ^mJ ‘| (B) Ho$db àamoh Ho$ erf© ^mJ ‘|

(C) O‹S> Am¡a àamoh Ho$ erf© ^mJ XmoZm| ‘| (D) H¡$på~¶‘ ‘|

5. Identify the mismatched pair from the following : 1

(A) posterior lobe of pituitary—vasopressin

(B) posterior lobe of pituitary—oxytocin

(C) posterior lobe of pituitary—growth hormone

(D) anterior lobe of pituitary—FSH

{ZåZ{b{IV ‘| go JbV {‘bmZ dmbo {dH$ën H$m M¶Z H$s{OE :

(A) nü nr¶yf ({nQ>çyQ>ar)—dogmoào{gZ (B) nü nr¶yf ({nQ>çyQ>ar)—Am°³grQ>mo{gZ

(C) nü nr¶yf ({nQ>çyQ>ar)—d¥{Õ hm°‘m}Z (D) AJ« nr¶yf ({nQ>çyQ>ar)—FSH

6. Select the most suitable answer for the blanks provided in the equation : 1

Glucose + 4ADP + 4Pi _____ + _____ + NADH

(A) 2 pyruvic acids, 4ATP (B) pyruvic acid, 4ADP

(C) glycogen, 4ATP (D) pyruvic acid, CO2

{ZåZ{b{IV g‘rH$aU ‘| {XE JE [aº$ ñWmZm| Ho$ {bE gdm}{MV CÎma H$m M¶Z H$s{OE :

½byH$mog + 4ADP + 4Pi _____ + _____ + NADH

(A) 2 nmBé{dH$ Aåb, 4ATP (B) nmBé{dH$ Aåb, 4ADP

(C) ½bmBH$moOZ, 4ATP (D) nmBé{dH$ Aåb, CO2
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7. Corpus luteum secretes the hormone, called

(A) progesterone (B) oestrogen

(C) prolactin (D) FSH 1

nrV qnS> (H$m°n©g ë¶yQ>r¶‘) Ûmam òm{dV hm°‘m}Z h¡

(A) àmoOoñQ>oam°Z (B) BñQ´>moOZ

(C) àmob¡p³Q>Z (D) FSH

8. Oxytocin is the hormone secreted by pituitary for

(A) uterine contraction for childbirth (B) formation of corpus luteum

(C) ovulation (D) menstrual cycle 1

{nQ>çyQ>ar (nr¶yf) J«§{W Ûmam òm{dV hm°‘m}Z Am°³grQ>mo{gZ H$m H$m¶© h¡

(A) àgd hoVw J^m©e¶ ‘| g§Hw$MZ (B) nrV qnS> (H$m°n©g ë¶w{Q>¶‘) H$m ~ZZm

(C) A§S>moËgJ© (D) G Vwòmd

9. The types of inflorescence with one example each are given below. Identify
the wrong pair. 1

(A) Hypanthodium — fig (B) Umbel — coriander

(C) Cymose — wheat (D) Racemose — mustard

nwînH«$‘ Ho$ àH$ma H$m CgHo$ EH$ CXmhaU Ho$ gmW {‘bmZ H$aHo$ {ZåZ ê$n go Xem©¶m J¶m h¡& JbV
¶w½‘ dmbo {dH$ën H$m M¶Z H$s{OE&

(A) hmBn¡ÝWmo{S>¶‘ — A§Ora (B) N>ÌH$ (Aå~ob) — Y{Z¶m

(C) ggr‘mjr — Johÿ± (D) Agr‘mjr — gagm|
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10. There is a continuous variation in skin colour of humans from very fair to
very dark. This type of inheritance is known as

(A) monogenic (B) pleiotropy

(C) polygenic (D) dihybrid 1

‘mZd ËdMm ‘| ~hþV JmoaonZ go ~hþV H$mbonZ Ho$ ~rM A{dpÀN>Þ namg Ñ{ï>JmoMa hmoVm h¡& ¶h {H$g
àH$ma H$s d§emJ{V Ho$ H$maU hmoVm h¡?

(A) EH$bOrZr (B) ~hþà^m{dVm

(C) ~hþOrZr (D) {Ûg§H$a

11. Fraternal twins are produced when

(A) two ova are fertilized by two sperms

(B) fertilized ovum divides into two independent cells each develops into
two separate individuals

(C) ova are developed into two embryos without fertilization

(D) twins produced from one egg fail to separate 1

A{^Þ Ow‹S>dm± V~ CËnÞ hmoVo h¢ O~

(A) Xmo A§S> Xmo AbJ-AbJ ewH«$mUwAm| Ûmam {Zfo{MV hmoVo h¢

(B) {Zfo{MV A§S> Xmo ‘| {d^m{OV hmo OmVm h¡ VWm XmoZm| H$mo{eH$mE± ñdV§Ì ê$n go n[ad{Y©V hmo AbJ-
AbJ ì¶{ï>¶m| H$mo OÝ‘ XoVr h¢

(C) A{Zfo{MV A§S> Xmo ^«yU ~ZmVo h¢

(D) EH$ A§S> Ûmam CËnÞ Ow‹S>dm± ~ƒo EH$-Xÿgao go AbJ Zht hmo nmVo

12. Bacteria are preferred in experiments of recombinant DNA technology
because

(A) bacteria have a huge single chromosome

(B) they have extranuclear chromosomes—the plasmid

(C) their chromosomes have exons and introns

(D) they have pili on their body surface 1
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nwZ¶m}JO DNA àm¡Úmo{JH$s Ho$ à¶moJm| ‘| ~¡³Q>r[a¶m H$mo dar¶Vm Xr OmVr h¡, ³¶m|{H$

(A) ~¡³Q>r[a¶m ‘| EH$ {demb EH$b JwUgyÌ hmoVm h¡

(B) A{V[aº$ JwUgyÌr¶ AUw—"ßbmpÁ‘S>' hmoVo h¢

(C) BgHo$ JwUgyÌm| ‘| E³gm°Z VWm BÝQ´>m°Z hmoVo h¢

(D) BgHo$ eara H$s gVh na nmBbmB© hmoVo h¢

13. Cyanocobalamin is

(A) vitamin A (B) vitamin D

(C) vitamin B12 (D) vitamin C 1

gm¶ZmoH$mo~mbo{‘Z h¡

(A) {dQ>m{‘Z A (B) {dQ>m{‘Z D

(C) {dQ>m{‘Z B12 (D) {dQ>m{‘Z C

14. Elderly people often get their bones fractured during a slightest fall. The
possible condition diagnosed in them is

(A) obesity (B) osteomalacia/osteoporosis

(C) anaemia (D) rickets 1

d¥Õ ì¶{º$¶mo§ H$s h{È>¶m± hëH$m-gm ^r AmKmV bJZo go Qy>Q> OmVr h¢& BgH$m gd©g§^m{dV (g§^mì¶) H$maU h¡

(A) ‘moQ>mnm (B) Am°pñQ>¶mo‘¡b¡{g¶m (ApñW‘¥XþVm)

(C) Aaº$Vm (D) [aHo$Q²>g

15. The bacterium responsible for curdling of milk is

(A) Lactobacillus (B) Rhizobium

(C) Penicillium (D) Saccharomyces 1
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XÿY Ho$ Xhr ‘| ñH§$XZ Ho$ {bE CÎmaXm¶r OrdmUw (~¡³Q>r[a¶m) h¡

(A) b¡³Q>mo~¡{gbg (B) amBOmo{~¶‘

(C) no{Z{g{b¶‘ (D) g¡H¡$amo‘mBgoO

16. In biotechnology, a group of genetically identical cells formed from a single
cell is called

(A) population (B) clones/callus

(C) tissues (D) genes 1

O¡d àm¡Úmo{JH$s ‘| {H$gr EH$b H$mo{eH$m H$s gVV {d^m{OV hþB© AmZwd§{eH$ ê$n go EH$g‘mZ H$mo{eH$mAm|
H$m g‘yh H$hbmVm h¡

(A) g‘{ï> (B) ³bmoZ/H¡$bg

(C) D$VH$ (D) OrZ

SECTION–B

IÊS>–I

Note : Question Nos. 17 to 28 are objective-type questions carrying 2 marks
each.

{ZX}e : àíZ g§»¶m 17 go 28 VH$ dñVw{Zð> àH$ma Ho$ àíZ h¢& àË¶oH$ àíZ 2 A§H$m| H$m h¡&

17. Match the items given in Column–I with the correct items given in
Column–II : 1+1=2

Column–I Column–II

(a) Bulliform cells (i) Xylem

(b) Guttation (ii) Hydathodes

(iii) Monocot leaf

(iv) Palisade parenchyma
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H$m°b‘–I ‘| Xr JB© ‘Xm| Ho$ {bE H$m°b‘–II ‘| Xr JB© ‘Xm| ‘| go g‘w{MV ‘X MwZH$a gw‘o{bV H$s{OE :

H$m°b‘–I H$m°b‘–II

(a) ~wbr’$m°‘© H$mo{eH$mE± (i) OmBb‘

(b) q~Xþòmd (ii) Oba§Y«

(iii) EH$~rOnÌr nÎmr

(iv) nobrgoS> noaoÝH$mB‘m

18. Fill in any two of the blanks, A, B, C and D : 1×2=2

(a) Sieve tubes are part of       A  plant tissue which conducts       B  to

different regions of the plant.

(b) Among human blood cells,       C  are nucleated and       D  are not
nucleated.

{ZåZ{b{IV A, B, C VWm D ‘| go {H$Ýht Xmo [aº$ ñWmZm| H$s ny{V© H$s{OE :

(H$) MmbZr Z{bH$mE±       A  nmXn D$VH$ H$m ^mJ h¢ Omo       B  H$mo nm¡Yo Ho$ {d{^Þ ^mJm| VH$

nhþ±MmZo H$m H$m¶© H$aVr h¢&

(I) ‘mZd é{Ya ‘|       C  Ho$ÝÐH$-¶wº$ VWm       D  H$mo{eH$mE± Ho$ÝÐH$-a{hV hmoVr h¢&

19. Fill in any two of the blanks, A, B, C and D : 2

“The colourless fluid flowing from blood capillaries into intercellular spaces

is called       A . This fluid helps in exchange of       B  and       C  with tissues

around and contains large amount of       D  which fights with bacteria.”

{ZåZ{b{IV ‘| {XE JE [aº$ ñWmZm| A, B, C VWm D ‘| go {H$Ýht Xmo H$s ny{V© H$s{OE :

""EH$ ñdÀN> a§JhrZ Vab Omo é{Ya H$mo{eH$mAm| go [agVm hþAm A§VamH$mo{eH$s¶ ñWmZ VH$ nhw±MVm h¡,

dh       A  H$hbmVm h¡& ¶h Vab g^r H$mo{eH$mAm| Am¡a D$VH$m| H$mo       B  VWm       C  H$s Amny{V©

H$aVm h¡& Bg Vab ‘| A{YH$ ‘mÌm ‘| CnpñWV       D  OrdmUw H$mo hQ>mZo (ajm H$aZo) ‘| ghm¶Vm

H$aVo h¢&''
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20. Identify A, B, C and D in the diagram given below : 2

{ZåZ{b{IV AmaoI ‘| A, B, C VWm D H$mo nhMmZH$a {b{IE :
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21. Identify wrong statements from the following : 2

(a) Spirogyra is a flagellated alga.

(b) Colour of Red Sea is due to the occurrance of pigmentation of alga.

(c) Contractile vacuole is found in Monerans.

(d) Marine algae are rich in iron.

{ZåZ{b{IV H$WZm| ‘| go JbV (AgË¶) H$WZm| H$mo nhMmZH$a {b{IE :

(H$) ñnmBamoJmBam EH$ H$em^r (âb¡OoboQ>) e¡dmb h¡&

(I) EH$ e¡dmb ‘| nmE OmZo dmbo dU©H$m| (a§OH$m|) Ho$ H$maU "bmb gmJa' H$m a§J bmb àVrV
hmoVm h¡&

(J) ‘moZoam ‘| g§Hw$MZerb YmZr nmB© OmVr h¡&

(K) g‘wÐr e¡dmb bm¡h (Am¶aZ) g‘¥Õ hmoVo h¢&

22. The flow of blood is shown in diagram through heart, labelled as A, B, C
and D. Identify any two of them. 1+1=2

                      

{ZåZ {MÌ ‘| öX¶ Ûmam é{Ya n[ag§MaU nW H$mo Xem©¶m J¶m h¡& {XE JE A, B, C VWm D ‘| go
{H$Ýht Xmo ñWmZmo§ H$s g‘w{MV ny{V© H$s{OE :
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23. Identify A and B in the table given below : 1+1=2

( ) Oxytocin Pituitary

( ) Leydig cells Secondary sexual characters

Secretion Source Function

i A

ii B

{ZåZ Vm{bH$m ‘| A VWm B H$mo nhMm{ZE :

( )

( )

i A

ii B

òmd òmoV àH$m¶©
Am°³grQm°{gZ {nQçQy ar (nr¶fy )

br{SJ H$m{o eH$mE± {ÛVr¶H$ b¢{¡ JH$ A{^bjU

24. Identify the spots A and B from the diagram given below : 1+1=2

ZrMo {XE JE {MÌ ‘| A VWm B H$s nhMmZ H$s{OE :
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25. Red-green colour blindness is a sex-linked disorder. Observe the flow chart
of the disease given below :

(a) Which parent is contributing the gene for colour blindness to the
offspring?

(b) What are the chances of the daughters showing the disease to these
parents? 1+1=2

bmb-har dUmªYVm EH$ qbJ ghb¾ {dH$ma h¡& BgHo$ àdmh AmaoI H$m AÜ¶¶Z H$s{OE :

(H$) Cnamoº$ ‘| H$m¡Z-go OZH$ go dUmªYVm H$m OrZ g§V{V ‘| d§emJV hmo ahm h¡?

(I) BZ OZH$m| H$s nw{Ì¶m| Ho$ Bg {dH$ma go J«ñV hmoZo H$s ³¶m g§^mì¶Vm h¡?

26. Study the following passage and fill in the blanks with appropriate words
[attempt any two parts from A–D] : 1+1=2

      A  is an association between maternal and foetal tissue.       B  is a

tough structure which serves as the blood vascular connection between

foetus and uterine wall. The embryo is enclosed in a sac called       C , which

is filled with       D . It acts as shock absorber to protect embryo

from damage.
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{ZåZ{b{IV n[aÀN>oX H$m AÜ¶¶Z H$aHo$ [aº$ ñWmZ A, B, C VWm D ‘| go {H$Ýht Xmo ñWmZm| H$s ny{V©
g‘w{MV nXm| (eãXm|) Ûmam H$s{OE :

      A  ‘mVm VWm ^«yU Ho$ D$VH$m| Ho$ ~rM EH$ gå~ÝY h¡& n[adY©ZH$mar ^«yU VWm J^m©e¶ H$s {^{Îm

Ho$ ~rM EH$ ‘O~yV g§aMZm       B  hmoVr h¡ Omo n[adY©Zerb ^«yU VWm J^m©e¶ Ho$ ~rM é{Ya g§dhZ-

gå~ÝY ñWm{nV H$aVr h¡& ^«yU EH$ W¡br ‘| ~§X hmo OmVm h¡ {Ogo       C  H$hVo h¢& Bg‘|       D

^am hmoVm h¡ Omo ^«yU H$mo Y¸$m| go ~MmVm h¡ VWm ^«yU H$mo j{VJ«ñV hmoZo go ~MmZo ‘| ghm¶H$

hmoVm h¡&

27. Some people tend to take vitamins in excessive amounts. Excessive intake
of water-soluble vitamin may not cause harm. But the excess amount of
fat-soluble ones are poisonous to body.

(a) What is hypervitaminosis?

(b) Name two fat-soluble vitamins. 1+1=2

Hw$N> ì¶{º$¶m| ‘| {dQ>m{‘Zm| Ho$ AË¶{YH$ ‘mÌm Ho$ godZ H$aZo H$s àd¥{Îm hmoVr h¡& Ob ‘| {dbo¶ {dQ>m{‘Zm|
H$s A{YH$ ‘mÌm go g§^dV… hm{Z Z ^r hmo, naÝVw, dgm ‘| {dbo¶ {dQ>m{‘Zm| H$s A{YH$Vm eara Ho$
{bE hm{ZH$maH$ hmoVr h¡&

(H$) A{V{dQ>m{‘ZVm ³¶m h¡?

(I) dgm ‘| {dbo¶ (KwbZerb) Xmo {dQ>m{‘Zm| Ho$ Zm‘ {b{IE&

28. Given below is the sequence to succession of communities in a habitat. Fill
in the gaps A and B with appropriate answer : 1+1=2

{H$gr Amdmg ‘| {d{^Þ g‘wXm¶m| Ho$ AZwH«$‘U Ho$ gwì¶dpñWV AZwH«$‘ H$mo {ZåZ ê$n go Xem©¶m J¶m
h¡¡& Bg‘| {XE JE [aº$ ñWmZ A VWm B H$s ny{V© g‘w{MV CÎma Ûmam H$s{OE :
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SECTION–C

IÊS>–J

Note : Question Nos. 29 to 37 are very short answer-type questions carrying
2 marks each.

{ZX}e : àíZ g§»¶m 29 go 37 VH$ A{V bKw-CÎmar¶ àíZ h¢& àË¶oH$ àíZ 2 A§H$m| H$m h¡&

29. Brain is covered by three membranes called _____. The space between
them is filled with _____ fluid. 2

h‘mam ‘pñVîH$ VrZ {P{„¶m| go Amd¥V hmoVm h¡ {OÝho§ _____ H$hVo h¢& BZHo$ ~rM H$s OJh ‘| EH$
Vab ^am hmoVm h¡ {Ogo _____ H$hVo h¢&

30. Write the names of two organisms belong to each one of the following groups : 2

(a) Arthropoda

(b) Aves

{ZåZ{b{IV dJm] ‘| go àË¶oH$ dJ© Ho$ Xmo Ordm| (OÝVwAm|) Ho$ Zm‘ {b{IE :

(H$) g§{YnmX (AmW«m}nmoS>m)

(I) njr (EdrO)

31. Which tissue bears the following characters? 2

(a) Small and compactly packed cells which divide continuously.

(b) End walls open and cells join to form a long tube having dead cell
wall.

H$m¡Z-go D$VH$ {ZåZ{b{IV A{^bjU Xem©Vo h¢?

(H$) N>moQ>r-N>moQ>r g§h{V¶m| Ho$ KZr^yV {d^mOZerb EH$ gÑí¶ Or{dV H$mo{eH$mAm| H$m g‘yh&

(I) ‘moQ>r H$mo{eH$m {^{Îm¶wº$ ‘¥V H$mo{eH$mE± {OZH$s A§Ë¶{^{Îm¶m± Iwbr hmoVr h¢ Am¡a nañna Ow‹S>H$a
b§~r Z{bH$mE± ~ZmVr h¢&
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32. Why are bacteria called monerans. Support your answer giving any two
characters. 2

~¡³Q>r[a¶m H$mo ‘moZoam OJV² Ho$ AÝVJ©V ³¶m| aIm J¶m h¡? AnZo CÎma Ho$ g‘W©Z ‘| BgHo$ {H$Ýht Xmo
A{^bjUm| H$m C„oI H$s{OE&

Or / AWdm

Maize is a monocot plant. Give any two valid reasons for considering of so.

‘¸$m EH$ EH$~rOnÌr nm¡Ym h¡& BgH$mo Bg dJ© ‘| aIZo Ho$ g‘W©Z ‘| Xmo gmW©H$ H$maU {b{IE&

33. How do immigration and emigration affect the existing population
density? 2

AmàdmgZ VWm CËàdmgZ {H$gr dV©‘mZ g‘{ï> KZËd H$mo {H$g àH$ma à^m{dV H$aVo h¢?

Or / AWdm

A rapidly growing population has more number of individuals of
reproductive age. What is the growth pattern of the population, if more
pre-reproductive individuals are present in the population?

Vrd«Vm go d¥{Õ H$aVr g‘{ï> (OZg§»¶m) ‘| OZZj‘ ì¶{ï>¶m| H$s g§»¶m ~hþV A{YH$ hmoVr h¡& ¶{X
g‘{ï> ‘| OZZnyd© dJ© Ho$ gXñ¶m| H$s g§»¶m A{YH$ hmo, Vmo g‘{ï> d¥{Õ H$m n¡Q>Z© ³¶m hmoJm?

34. With the help of lined diagram only, show the structural components of
a habitat. 2

EH$ aoIr¶ AmaoI H$s ghm¶Vm go EH$ Amdmg Ho$ g§aMZmË‘H$ KQ>H$m| H$mo Xem©BE&

35. Tetracycline is a broad spectrum antibiotic. Why do we say so? What is the
source of it? 2

Q>oQ´>mgmB³brZ EH$ ì¶mnH$ namg à{VO¡{dH$ (~«m°S> ñn¡³Q´>‘ E|Q>r~m¶mo{Q>H$) h¡&  Q>oQ´>mgmB³brZ H$mo EH$
ì¶mnH$ namg à{VO¡{dH$ (~«m°S> ñn¡³Q´>‘ E|Q>r~m¶mo{Q>H$) ³¶m| H$hVo h¢? BgHo$ òmoV Ord H$m Zm‘ {b{IE&



314/MAY/206C 19 [ P.T.O.

36. Name two types of enzymes produced in large scale through genetic
engineering. Mention one use of each of enzymes. 2

AmZwd§{eH$ A{^¶m§{ÌH$s Ûmam ì¶mnH$ ñVa na CËnm{XV Xmo àH$ma Ho$ E§OmB‘m| Ho$ Zm‘ {b{IE& àË¶oH$
E§OmB‘ H$m EH$ Cn¶moJ ^r {b{IE&

Or / AWdm

Write the names of two hormones produced in large scale through
recombinant DNA technology. Name one therapeutic application for each.

nwZ¶m}JO S>r0EZ0E0 àm¡Úmo{JH$s Ûmam ì¶mnH$ ñVa na CËnm{XV Xmo hm°‘m}Zm| Ho$ Zm‘ {b{IE& {M{H$Ëgr¶
CnMma ‘| àË¶oH$ hm°‘m}Z H$m Cn¶moJ {b{IE&

37. Write any four important functions of proteins in our body. 2

h‘mao eara ‘| àmoQ>rZ Ho$ H$moB© Mma ‘hÎdnyU© àH$m¶© {b{IE&

SECTION–D

IÊS>–K

Note : Question Nos. 38 to 41 are short answer-type questions carrying
3 marks each.

{ZX}e : àíZ g§»¶m 38 go 41 bKw-CÎmar¶ àíZ h¢ VWm àË¶oH$ àíZ 3 A§H$m| H$m h¡&

38. Define the following terms : 3

(a) Amnion

(b) Demography

(c) Population growth rate

{ZåZ{b{IV nXm| H$s n[a^mfm {b{IE :

(H$) Cë~

(I) OZgm§p»¶H$s

(J) OZg§»¶m (g‘{ï>) d¥{Õ Xa
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Or / AWdm

Write three effects of uncontrolled population growth on a nation.

A{Z¶§{ÌV Cƒ OZg§»¶m d¥{Õ {H$gr Xoe H$mo {H$g àH$ma à^m{dV H$aVr h¡, BgHo$ VrZ à^md {b{IE&

39. Write the name of one surgical method of contraception carried on in
human males. Explain how it is performed. 3

nwéfm| (‘mZd Za) ‘| J^©{ZamoY H$s {H$gr EH$ eë¶{M{H$Ëgr¶ {d{Y H$m Zm‘ {bIH$a BgH$s {d{Y H$s
ì¶m»¶m H$s{OE&

Or / AWdm

Write the name of one contraception carried on in human females. Describe
the procedure adopted for it.

{ó¶m| (‘mZd ‘mXm) ‘| J^©{ZamoY H$s {H$gr EH$ eë¶{M{H$Ëgr¶ {d{Y H$m Zm‘ {b{IE VWm ì¶m»¶m
H$s{OE {H$ ¶h {H$g àH$ma gånÞ H$s OmVr h¡&

40. (a) Briefly explain the transformation in bacteria.

(b) Why do we consider DNA replication as semiconservative? Explain

briefly. 3

(H$) OrdmUwH$ ê$nm§VaU H$s g§{já ì¶m»¶m H$s{OE&

(I) S>r0EZ0E0 (DNA) à{VH¥${V¶Z H$mo AY©g§ajr ³¶m| ‘mZm OmVm h¡? g§{já ì¶m»¶m H$s{OE&

Or / AWdm

Draw a replicating DNA molecule showing—

(a) parental strand;

(b) Okazaki fragments;

(c) leading strand;

(d) replication fork.
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à{VH¥${V¶Z H$aVo DNA AUw H$m AmaoI ~ZmBE VWm Bg‘| {ZåZ{b{IV H$mo Xem©BE VWm Zm‘m§{H$V
H$s{OE :

(H$) OZH$ a‚mwH$

(I) AmoH$mµOmH$s I§S>

(J) brqS>J a‚mwH$

(K) à{VH¥${V {ÛemI

41. Draw a neat diagram of a typical bisexual dicotyledonous flower and label
its four whorls (parts) : 3

EH$ {Û~rOnÌr {ÛqbJr àmê$nr nwîn H$m gm’$ {MÌ ~ZmH$a BgHo$ Mma MH«$m| (à‘wI ^mJm|) H$mo Zm‘m§{H$V
H$s{OE&

SECTION–E

IÊS>–L>

Note : Question Nos. 42 and 43 are long answer-type questions carrying
5 marks each.

{ZX}e : àíZ g§»¶m 42 VWm 43 XrK©-CÎmar¶ àíZ h¢ VWm àË¶oH$ àíZ 5 A§H$m| H$m h¡&

42. Following is the information given with regard to the respiratory processes
in living beings. Fill in the gaps with appropriate answers : 1×5=5

  2

2 2

T  

Cytoplasm and
        Aerobic — —

  mitochondria

      Anaerobic — —  CO  + 2 ATP

     Krebs cycle —  Mitochondria CO  + NADH

ype of  respiration Raw material Site     Products
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gOrdmo| ‘| ídgZ àH«$‘ Ho$ g§~§Y ‘| Hw$N> gyMZm {ZåZ{b{IV ê$n go Xr JB© h¡& g‘w{MV CÎma Ûmam [aº$
ñWmZm| H$s ny{V© H$s{OE :

2

2 2

    — —

   — —  CO  + 2 ATP

   —  CO  + NADH

ídgZ H$m  àH$ma H$ƒm nXmW© {dñWb CËnmX      

H$mo{eH$mÐd VWmdm¶dr¶
  ‘mBQmoH$m°pÝS¶́m

Adm¶dr¶

H$o« ãg MH$« ‘mBQmoH$m°pÝS¶́m

Or / AWdm

Complete the following statements : 1×5=5

(a) Muscular pain we get after prolonged exercise is due to _____.

(b) Lenticels are found in _____. Their function is _____.

(c) Each NADH2 molecule produces _____ ATP molecules.

(d) Photosynthesis is a _____ path and respiration is a catabolic path.

{ZåZ{b{IV H$WZm| ‘| [aº$ ñWmZm| H$s ny{V© H$aHo$ nyam H$s{OE :

(H$) AË¶{YH$ ì¶m¶m‘ Ho$ níMmV² hmoZo dmbr nr‹S>m H$m H$maU h¡ _____&

(I) _____ ‘| dmVa§Y« nmE OmVo h¢ VWm BZH$m H$m¶© h¡ _____&

(J) àË¶oH$ NADH2 AUw go ATP Ho$ _____ AUw {Z{‘©V hmoVo h¢&

(K) àH$me-g§íbofU EH$ _____ nW h¡ VWm ídgZ EH$ AnM¶r nW h¡&
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43. Draw a transverse section of a dicot root and label the following parts : 5

Epiblema, cortex, endodermis, pericycle, protoxylem, metaxylem,
phloem and pith

EH$ {Û~rOnÌr O‹S> H$s AZwàñW H$mQ> H$m {MÌ ~ZmBE VWm {ZåZ{b{IV ^mJm| H$mo Zm‘m§{H$V H$s{OE :

Enrãbo‘m, dëHw$Q> (H$m°Q>}³g), A§VñËdMm, n[aaå^, àmoQ>moOmBb‘ (àmH²$Xmé), ‘oQ>mOmBb‘, âbmo¶‘
VWm {nW

Or / AWdm

(a) With the help of a diagram, describe the structure of stomatal
apparatus of a dicot leaf.

(b) Where are they located in xerophytes?

(c) What are bulliform cells? Where are they found? Write one important
function of these cells. 5

(H$) EH$ {MÌ H$s ghm¶Vm go EH$ {Û~rOnÌr nÎmr Ho$ a§Y« CnH$aU H$s g§aMZm H$m dU©Z H$s{OE&

(I) ‘éX²{^X² nm¡Ym| ‘| do H$hm± AdpñWV hmoVo h¢?

(J) ~wbr’$m°‘© H$mo{eH$mE± ³¶m h¢? CZH$s AdpñW{V VWm EH$ ‘hÎdnyU© H$m¶© H$m C„oI H$s{OE&


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